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INTRODUCTION

Percentage is of immense importance when it comes to
problem solving in quantitative aptitude (QA) and data
interpretation (DI). Despite the fact that the number of
questions asked from this concept is not very high in the
BANKING EXAMS, a sound understanding and good
practice of percentage calculations comes handy in almost
all the topics of QA and DI. However, percentage is an
important concept for all the other competitive exams and
aptitude examinations.

Percentage means ‘per hundred’

Example what is 20% of 50% of 40% of 20?

Solution Percentage means ‘per hundred’. So, 20% of
50% of 40% of 20 = (20/100) x (50/100) x (40/100) x 20
= 0.8 what we can observe here is that even if we change
the order of values, the final result will be the same

Basic statement 1
Xy

whatis x% of y = 100

It can also be seen that x% of y = y% of x.
Using this, we can see that if we have to calculate 24% of
25 (or any other calculation of similar nature), it is better
to find out 25% of 24 —» (1/4) x 24 —>6

This one simple fact can be also used to divide or multiply
any number. We are trying to find out the value of 25 x
32 - (100/4) x 32 —» 800

Basic statement 2

What percentage of xisy? =

Basic statement 3 ®
Change in value

_ Change
(a) Percentage change = P E—— Ual(v -~

(b) x is what % more thany =

Initial value nge —Final value

Percenta d value resulting after change are
frequently in almost all chapters of quantative
aptitude. Student should understand it in depth from
various perspectives.

We will discuss here atleat three different ways to analyse

percentage change and final value after change.
Percentage change as addition

Percentage change as Multiple
Percentage change as fractions (Unitary Method)
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Note: As per requirement of question you can switch
among three conceptions given below. It can make your
calculations easy and enhance your speed of solving
questions dramatically.

Let us now take 40 as initial value and percentage change
= 20%. Now let us analyse % change and final value in
three different forms

Percentage change as addition

Thought process:
20%T
—20% of 40=8
40(initial) 248 > 48(fi

Now, think in reverse mann

20%7
? — 48(final)

It is difficult to find initial value if final value is already
given in the question.
Percentag (.’as Multiple

decrease in following way:

20%T

A0(initial) —>22

48 (final)
This concept is easy and very useful.

Now, think in reverse manner:

20%T > x1.2
? =—— 48(final)

In case of reverse just divide 48 by 1.2 as rather multiply.
48/1.2 = 40 (initial)

Percentage change as fractions

Thought process:
Think % increase and decrease in following way:

20 1(change) 5+1 6(final)
0, = —
20%T = 755 5 5  S5(initial)
Now Compare
X8
6(fina]) —— ? 48
. x8 _)E
5(initial) — 40
Finally
20%T
1.6 7 48
40(initial) —————"— 48(final)
Now, think in reverse manner:
20%1 %
? ——— > 48(final)
If 6— 48
Then 1- 8
So,5— 40
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Let us summarise above concepts
20%
—+8 (addition)
— X 1.2 (multiplication)
- % —rg (Fraction)

40(initial)

> 48(final)

SUCCESSIVE PERCENTAGE CHANGE
Suppose we have to increase a quantity successively by
20% and then increase by 30%. Ideally, this should be
done by taking 100 as the initial value and then changing
this initial value first by 20% and then by 30%.

20%7 30%T

100 —2% 120 —¢ , 156 (Net change 56% 1)

Also by multiple method

20%T > 1.2

30%T > 1.3

Net change = 1.2 x 1.3 = 1.56 — (Net change 56%1)

Similarly, if we have to increase a quantity successively
by 20% and then decrease by 30%.

20%7T 30%%
100 —22 120 —=& , 84 (Net change16%)
Also by multiple method
20%T > 1.2
30% — 0.70

Net Change = 1.2 x 0.70 — 0.84 (Net change16%1)

PRODUCT CONSTANCY METHOD

In a number of topics and concepts, we encounter
relationship where the product of two_guanfitiesjequ
the third quantity. ®

For example,

Speed x Time = Distance

Price x Consumption = Expendi
Number of persons x Days =
Length x Breadth = Area of r

Imagine above variables
1x1=1
Txd=1

quantity, e.g., increase cost price to obtain a certain
profit, we obtain selling price or if we increase principal,
we obtain amount.

If we generalize product stability ratio, then it can be
as
AxB=P

Now, if A is increased by a certain percentage, then B is
required to be decreased by certain percentage so that the
product (P) remains stable,
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For example,

if we increase A by 25% and P has to be constant, then B
is required to be decreased by 20%. This procedure can
be summed up in the following way:

www.jkchrome.com

Changein A  Change in B ~ Changein P
100%* 50%< 0%
- 50%7T - 33.33%{ 0%
- 33.33%T - 25%1
- 25%7T - 20%
- 20%T - 16.66%
- 16.66%T - 14.28%1
14.28%1 12.5%4
- 12.5%T 11,119
11.11%7T - 10%
10%7T 1 9.09
- 9.09%T 8.33%
and so on ¢

all the below -given written situations, just one
mathematical information has been used, ie. if A is
increased by 25%, then B decreases by 20%.

This mathematical information can be used in so many
forms:

1. Percentage If A is 25% more than B, then by how
much percentage B is less than A?

Solution

Normal Method Let us assume B = 100, then A = 125
Now, B is 25 less than A. Percentage of B is less than A =
25/125x 100 =20%

Product Constancy Method Using product stability rule,
since A is 25% more than B, so B is 20% less than A,

Fraction Method

Gty Iy 5B X20, 100)
or 25 A:T—>4—>4(B) YO

2. Profit and loss An article is sold for (1125 at a profit
of 25%. What is the cost price of the article?

Solution

Normal Method CP x 1.25 = SP So, CP = SP/1.25 =
125/1.25 = 0100

Product Constancy Method If we increase CP by 25%, we
will get SP. So, if we decrease SP by 20%, we will get CP.
Hence, CP = (1100

Eraction Method - Try vourself

www.jkchrome.com
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3. Time, Speed, and Distance (TSD) When speed of a
car is increased by 25%, time taken reduces by 20
minutes in covering a certain distance. What is the
actual time taken to cover the same distance by actual
speed?

Solution

Normal Method Since we know S = V x T (Distance =
Speed x Time) New speed = 1.25 V, so new time = T/1.25
So, reduction in time = T-T/1.25=0.25T/1.25=T/5

T/5 =20 min = T = 100 min

Fraction Method

| L. 4 1({)->20Min
if (sT)25% 3 > 7then (V)= 5 > =05 v

Product Constancy Method Since speed has been
increased by 25%, so time will reduce by 20%. Now, 20%

T(Time) = 20 min So, Total time = 100 min

4. TSD Mayank goes to his office from his home at a

speed of 20 kmph and gets late by 10 min. However,

when he increases his speed to 25 kmph, he is 20 min

early. What is the distance from his office to his

home?

4 Normal Method Let us assume that distance = D

So,D/20-D/25=30/60h=1/2 So,D =50 km

Fraction Method

Speed (ST) = 20125 - 25%T

Time (T) = 10 min late + 20 min early = 30 minutes
1({)— 30 Min

5— 150 Min &,2.

1 5 4
if (ST)ZS%—>Z—>Zthen (T~L)—>§ -
SoD =20 x2.5=50KM

Product Constancy Method S =V x T — (S5)2
(T)20%! — 30 min = T = 150 min = 2.5 hour{So, to
distance = 20 x 2.5 =50 km

L 4
5. Time and Work Efficiency of Amit is ore than
Vinit. Vinit takes 20 days to cemplete ork. How

many days will Amit take to
Solution 5 Normal Method

same w:
taking 20 days to
100% work in 20
day. Since e ciency of
o Amit is doing 6.25% work
per day. So, nu taken by Amit = 100/6.25
ethod Efficiency of Amit is 25%
Amit will take 20% less days than
f days taken by Amit = 16 days

6. Time and Work 20 men can do some job in 50 days.
In how many days will 25 men do the same job?
Solution 6 Normal Method Using Work = Number of
persons x Number of days Work = 20 x 50 = 1000 Now,
1000=25xDSo,D =40

Product Constancy Method Number of persons increases
by 25%, so number of days will decrease by 20%. So,
number of days = 40 days
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7. Simple Interest (SI) Rate of interest is 12.5% per
annum SI. What is the principal if amount obtained
after two years is [11250?
Solution 7 Normal Method Using the formula for SI =
PRT/100 P = (SI x 100)/RT Putting the values gives us P =
11000
12.5%93 _)ﬁ _)g 2+8 10(A)—-»1250
8 8 8 8 851000 ANS
Product Constancy Method Interest fi 0 s =25%
So, if we decrease the amount by 20%, n will get

the principal. Hence, Principal = (1

8. Percentage Due to c of 25%, 5 kg less
sugar is available for [100. What is the original price
per kg?

Solution Normal Method Let us assume that original

e kﬁo, final price per kg = [J1.25 P

price per kg = 9
(120/1.25P) = 5 Solving this equation

Hence, (120/

9. Mensuration Length of a rectangle is increased by
25%. By what percentage should the breadth be
decreased so that area remains constant?

Solution 9 Product Constancy Method Till now, it must
have become very obvious that the breadth will decrease
by 20% to keep the area constant

Example My Reliance India phone bill for the month of
May is [1B. Moreover, there is a service tax of S% which is
to be levied upon this value. However, since they are
overcharging their customers, they get a discount of D%
on it. So, now I have the following two options to make the
payment: (OB — S%T— D% l— Final bill 0B - D% l—
S%7T— Final bill Which option is beneficial for me if S > D?

Solution Prima facie, it might appear that the 1st one is
better than the 2nd one or the 2nd one is better than the
1st one, but a close and deep inspection will reveal that
the final bill is same in both the cases. It can be checked
with the help of assuming values also. B = 1100, S% =
20% and D% = 10% 1100 - (20%7) - J120- (10%!) -
0108 (final bill) 0100 - (10%!) - [090- (20%1) -
(1108 (final bill) So, both the values are same at the end.

Hence, if the final value and percentage increase or
percentage decrease are given and we have to find out
the initial value, then it can be done in similar way.

www.jkchrome.com
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Using S = 30%7T— S x 1.3 = 195 So, if the final value 195
and 30%?7 is given, then the initial value S = = 195/1.3 =
150

SUCCESSIVE PERCENTAGE CHANGE
Suppose we have to increase a quantity successively by
20% and 30%. Ideally, this should be done by taking 100
as the initial value and then changing this initial value
first by 20% and then by 30%. It can be seen below: 100
- 20%T - 120 - 30%7T— 156 So, net percentage increase
= 56% This is known as straight line method of solving
the problems.

Example The price of petrol is increased by 20%.
However, expenses increase only by 10%. What is the
percentage increase or decrease in consumption?

Solution If consumption remains constant, then the
expenses should have also increased by 20%. However,
since expenses increased by only 10%, consumption has
been reduced. These kinds of problems can be done in
three ways: (i) Straight line method 100 (Initial
expenditure)-»  20%T in  price»120-x%! in
consumption—110 (final expenditure), x% = 10 120 x =
100 8 3.%3

PERCENTAGE-RATIO EQUIVALENCE

The essence of percentage-ratio equivalence lies in the
fact that most of the percentage calculations like 25%,

speed

1
1/2
1/3
1/4
1/5
1/6
177
1/8
1/9
1 1/10
1/11

TYPE1

Suucessive % change (Chain Rule)
Example: A number is increased by 10% and then it is

decreased by 10%.The net change in the number is:

(a) 2% decrease (b) 1% increase (c) 2% increase (d) 1%
decrease

Solution
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10%T 10%+

100 —=2 110 —2 99 (Net change 1% )

Example: A number is increased by 15% and then
decreased by 25% and the number becomes 22 less than

the original number. The original number is(a) 140 (b)
160 (c)120 (d)100

Solution
By Fraction Method
15067 15 3T_é23
°' 700 > 20 20
25%9 2 li
™~ 700
Net change =
23 3 69 5.' 11
— X —=— - —

o 22
@) 160 (ans)

mple: The population of a town increases by 5%
every year. If the present population is 9261. The
population 3 years ago was:(a) 5700 (b) 6000 (c) 7500
(d) 8000

s S L 2L 21 21 21  9261(fnal)
°>700 *20 > 20 202020  8000(initial)

TYPE 2

A person gave 20% of his income to his elder son, 30% of
the remaining to the younger son and 10% of the balance,
he donated to a trust, He is left with 10080. His income
was:

Solution CHAIN RULE THINK

=-20% =30%(J24)
> 80 >

100 56

—10%({5.6)
— 50.4

Compare Now

According to the question,

50.4 units =Rs. 10080

1 units =1080/50.4 =Rs. 200
100 units =200 x 100 =Rs. 20000
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Hence, Required income =Rs. 20000

TYPE 3

Product Constancy Method

Example: A reduction of 25% in the price of rice enables
Bhuvnesh to buy 2 kg more rice for R 240. The reduced
per kg price of rice is

(a) Rs. 30 (b) Rs 25(c) Rs 20 (d) Rs 15

Solution By Product constancy Method

Price (P) x Consumption (C) = Expend. (Constant)
P x C = Constant

1x1=1

Reduction in price = 20%

Think 20% as fraction

20964 = 2o — v L2t ¢
100 5 5 5

From above

1x1=1

4

E X Z -1

If Price becomes 4/5 then consumption should become
5/4.
5(final) 5-—4 _ 1(change)

2Gnitial) & 4(initial)

Compare now
1->2kg 2kg

4>7 8kg

8kg — 240 Rs.
1kg — 30 Rs. (Ans)
Thought Process (Summary)

 Price Consumption
1 x1

' 4/5 5/4

' 5-— 1

12k 2kg
45?7 Bkg
8kg — 240 Rs.
_ 1kg > 30 Rs.

TYPE 4

Mixtures by fraction (ratio) Method
Example: 200 litres of a mixture contains 15% water

and the rest is milk. The amount of milk that must be

www.jkchrome.com
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added so that the resulting mixture contains 87.5% milk
is:

Solution

15% =3/10 (3 - Water, 10 — Mixture)

87.5% =7/5 (7 - Milk, 8-> Mixture)
Milk : Water

Initial » 17 : 3

Final » ()73 : ()l

Final - 21 : 3

Note: Milkis added in the mixture qua of water will
be same.

According to the question,

20 units = 200 litres

1 units = 200/20 litres =

4 units =10x4 =40u

Hence, Required quantity of miilk

= 40 litres

TYPE 5 ¢

Venn Dj thod

Example: examination, 52% students failed in Hindi
an English. if 17% failed in both the subjects,

O;

ents failed in Hindi = 52%

K Students failed in English =42%
Students failed in both subjects =17%

O

Hindi _ English
Hindi English

Total % of passed students in both subjects
=100-(35+ 17 + 25)
=100-77 =23%
Hence, required percentage =23%

TYPE 6

% by Unit Method & comparisons

TYPE9

Example: In a class, the number of girls is 20% more than that
of the boys. The strength of the class is 66. If 4 more girls are
admitted to the class, the the number of boys to that of the girls

is:
Solution
20% =1/5 =6/5 (6 =Gilrs ,5 = Boys)
Boys : Girls
5 : 6

www.jkchrome.com
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Accordiing to the question, Example: The ratio In which two sugar solutions of the
5+ 6_) units = 66 concentrations 15% and 40% are to be mixed to get a
11 unllts =66 solution of concentration 30% is:
1 units =6x5 =30
Girls =6x6 =36 Solution
The number of girls when 4 is admitted . N
B All Rul
= (36+4) =40 (b) By using 1gat.1on ule,
Required ratio = 30: 40 = 3 : 4 ' n
15% 40%
Example: In an election there were only two candidates. One \r "
of the candidates secured 40% of votes and is defeated by the If _.“' )
other candidate by 298 votes. The total number of votes polled . 3”':}“!;
is; /———_\\
11 % 15

100 = 40(loser) PRGN 60(winner)
Compare Now Ratio of quantity - 2 : 3
As per question

20 units =298

1 units =298/20

100 units =298/20 x 100 = 1490 ¢
TYPE 7 1. Ifx is 8 fy/what percent of x is y?
Example: In an examination, a student must get 36% marks to i 1(5)8

pass. A student who gets 190 marks failed by 35 marks The total
marks in that examination is:
Solution

gﬂals:;l::l?stig(eezlst?[?agaikls;él i f33;ls=b2y 2355 marks If 8% of x is the same as 4% of y, then 20% of X is

the same as:
0,
'I_‘)h;lz,%3f 2/;lgflarks are pass marks K (a) 10% of y (b) 16% of y
—-100% =225/36 x 100 (c) 80% of y (d) 50% of y
> 100% = 625 4, If 120 is 20% of a number, then120% of that

— Total marks = 625 number will be :

0% of y, what percent of x is y?
75% (b) 80%
00% (d) 125%

(a)20  (b) 120

TYPES ) . (c)480 (d)720

Example: The income of C is 20% mre ¢ the 5. If x is less than y by 25% then y exceeds X by :
income of B is 25% more than A's, Find 0 uch (a)100/3% (b) 25%

percent is C's income more than A's? (©)75% (d) 200/3%

'S 6. If P % of P is 36, then P is equal to :
(a) 3600 (b) 600
(c) 60 (d) 15

1 4+ 7. 2 is what percent of 50?

25% more — 7 - (@)2% (b)2.5%

A:B=4:5 () 4%  (d) 5%

Similarly, 8. 2/3 is what percent of 1/37?

(@) 50% (b) 100/3%

(c) 150% (d)200%

Solution 20% =1/5, 25% =

20% more,—

B:C=5:6 5(B) 9. If 10% of m is the same as 20% of n, m:n is equal to
So,A:B:C=4:5:6 (@21 (b)1:2
A:C=4:6—>Cis2morethanA —2/4 (c)1:10 (d)1:20

2/4—>1/2 —>50% 10. Theratio 5: 4 expressed as a percent equals :

(a) 125% (b) 80%
(c)40% (d)12.5%
11. 0.15% of 100/3% of rs.10000 is :
TYPE 9 (@) Rs5 (b)Rs.150

. - (c) Rs.0.05 (d) Rs 105
Alligation Method 12. 30% ofxis 72 .The value of xis:

(a) 216  (b) 240
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(c) 480 (d) 640

If 15% of (A+B) = 25% of (A - B), then what percent
of Bis equal to A?

(2) 10% (b) 60%

(c) 200% (d) 400%

What is 20% of 25% of 300?
(a) 150 (b) 60
(c) 45 (d) 15

1f X% of 25/2 is 150, then the valueof x is:

(a) 1000 (b) 1200

(c) 1400 (d) 1500

If 50%o0f (x-y) = 30% of (x +y), then what percent of
xisy?

(@) 25% (b) 100/3%

(c)40% (d)400%

If 50% of P = 25% of Q, then P = x% of Q, Find x
(a)0.5 (b)2

(c) 50 (d) 0.005

If 20% of A = 50% of B, then what percent of A is B
N

(@)30% (b) 40%

() 25% (d)15%

18% of which number is equal to 12% of 757

(a) 50 (b)100

(c)2 (d)3/2

If the income of Ram is 25/2 % more than that of
Shyam, the incorne of Shyam is less than that of
Ram by

(2)100/9 % (b)97/8%

(c) 100/11% (d)122/11% K
X's income, 20% more than that of Y what p t

bof Y’sincome less than X?

(a) 250 /3% (b) 50/3%

(€)251/3% (d)49/3 %

The time duration of 1 hour 4 t

percent of a day? L 2

(a) 7.218 (b) 7.291
()83  (d)8.24

inutes

Which numbel is 40% less t 900/80 0?

(a) 36 (b) 54

(c) 50 (d) 60

If 30% of A = 0.25 5of Cthen A: B: Cis
equal to

(@)5:6:4 15

(c)6:5:4

.0lis

(a) 109

(©

The difference of two numbers is 15% of their sum.

the ratio C the larger number to the smaller nurber
is:

(a) 23:17 (b) 11:9

(c)17:11 (d) 23: 11

P is six times as large as Q, The percent that Q is
less than P, is:

(a) 250/3 % (b) 70%

() 190/3 % (d)50%

65g is what per cent of 2 kg?
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(2)13/4 % (b)65/2%

() 15/8 % (d)13/8%

Half of 1 percent, written as a decimall, is:

(0.2 (b)0.02

(c) 0.005 (d)0.05

The time diuration of 2 hour 45 miuntes is what
percent of day

(a) 7.2.18% (b) 11.45%

(c)8.3% (d)8.24%

1.14expressed as a percent of 1.9 is:

(@6% (b)10%

() 60% (d) 90%.

.01 is equivalent to:

(@) 10% (b)1%

(c) 0.01% (d) 0.1%

If60% Of A=3/4 of B, t @ is.

(@) 9:20 (b)20:

(c)4:5 (d)5:

If 30% of (B - A) =289
B is equal

(@)4:1 40
(c)5:4 9

cent of 80

(B +A), then the ratio A :

of A = 30% of B and B is x of A, then the
eofXis

(a) 800 (b)300

(c) 700 (d) 400

If 90% of A =30% of B and B= 2x % of a ,then the
value of x is

(a) 450 (b) 400

(c)300 (d) 150

One- third of 1206 is what per cent Of 134 ?

(@) 100% (b) 150%

(c) 200% (d) 300%

If 120% of a is equal to 80% of b, then (b+a)/(b-a)
is equal to

(@) 5 (b)7

()7 (d)8

If 20% of (a+b) = 50% of B, then value of (2A-
B)/(2A+B) is

(@1/2 (b)1/3

(91/4  (d)1

If 40% of (A+B) = 60 % of (A-B ) then (2A-3B
)/A+B is

(@7/6 (b)6/7

(c)5/6  (d)6/5

What percent of 3.6 is 72 gms?
(a) 80 (b) 180

(c) 400 (d)125

If 125% of x is 100, then x is
(a)80 (b) 180

(c)400  (d)125

If 50% of (P-Q)=30% of (P+ Q) and Q =x% of P,
then the value of x is:

(a) 30 (b) 25

(c) 20 (d)50

25 % of 120 + 40% of 380 = ? of 637
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(@2/7 (b)1/7
(c)4/7 (d)3/7
What is 27% of 36% of 5/9 of 45007
(2)239 (b)241
(c)243  (d)245

1% of 1% of 25% of 1000 is:

(2)0.025 (b) 0.0025

() 0.25 (d) 0.000025

If 8% of x = 4% of y, then 20% of x is:

(a) 10% of y (b) 16% of'y

(c) 40% ofy (d) 80% of y

If 60% of A=30% of B,B=40% of Cand C =x%
of A, then the value of xis :

(a) 800 (b) 200

(c) 300 (d)500

If 20 % of A=30% of B=1/6 of C, then A:B:Cis:
(a) 2:3:16 (b) 3:2:16

(c) 10:15:18 (d) 15:10:18

If50% ofx =30%y,thenx:yis

(@2:3 (b)3:2

(c)5:3 (d)3:5

If 80% of a number added to 80 gives the result as
the number it self, then the number is

(a) 200 (b) 300

(c)400  (d)500

A person who spends 200/3 % of his income is able
to save Rs. 1200 per month his monthly expenses
(inrs.)is:

(2) 1200 (b)2400

(c)3000 (d)3200

The income of C is 20% more than B's an e
income of B is 25% more than A's, Find by h
much percent is C's income more than A's?

(a) 150% (b) 50%

(c) 25% (d) 35%

If A exceeds B by 40%, B is lessétha then
A:Cis:
(a) 28:25 (b) 26:25 5

(c) 14:27 (d)27:14

In a school 70% of the,s
number of boys are 510.
students in the sch
(a)850 (b)1
(c)1830 (d)1

en& are’ girls the
e total number of

If 60% of ts in a school are boys and the
numbe 2, how many boys are there in
the sch

(@

(c) 1324

When 60 is subtracted from 60% of a number, the
result is 60. The number is :

(a) 120 (b) 150

(c)180 (d) 200

When 75% of a number is added to 75, the result is
the same number, Find the number :

(a) 225 (b) 270

(c)300 (d)325
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The difference of two numbers is 20% of the larger
number. If the smaller number is 20, the larger
number is :

(a) 25 (b) 45

() 50 (d) 80

If A's income is 40% less than that of B, how much
percent B's income is more than that of A?

(@) 60% (b) 40%

() 66.66% (d) 33.33%

Two numbers are respectively 20% and 50% of a
third number, What percent is th number of
the second?

(@) 10% (b) 20%
(€)30% (d)40%

Two number are respe and 20% less,
ercent is the first

(a) 335/4 %

(c)242/3%

If a numb is 10% less than another number y is
10% m 128)then x is equal to :

(a) 150 3

(c (d) 123.75

he students in a school are boys and the

Two numbers are more than the third number by
20% and 50% respectively. Find the first Inutriber
is what percent of the second number?

(a) 100% (b) 150%

(c)80% (d)120%

Two numbers are respectively 25/2 % and 25%
more than a third number,The first number is what
percent of the second number :

(@)50% (b) 60%

() 75% (d) 90%

If 60% of A's income is equal to 75% of B's income,
then B's income is equal to x% of A's income is
equal to the sum of 10% of the larger number and
25, then the smaller number is:

()70 (b) 60

(c) 80 (d)oo

Two numbers are in the ratio 2:3 if 20% of the
smaller number added to 20 equal to the sum of
10% of the larger number and 25 , then the
smaller number is

(@) 100 (b)160

(c) 180 (d) 200

Two number are respectively 20% and 50% more
than a third number, Then the ratio of the two
numbers is:

(@2:55 (b)3:5

(c)4:5 (d)6:7

15% of 45% of a number is 105.3, What is 24% of
that number,

(a) 385.5 (b) 374.4

(c)390 (d)375
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The monthly income of a person was R 13,500 and
his monthly expenditure was R 9,000. Next year his
income increased by 14% and his expenditure
increased by 7%. The percentage increase in his
savings.

@7% (b)21%

(c)28% (d)35%

The difference of two numbers is 45% of their sum.
The ratio of the larger number to the smaller
number is

() 20:9 (b)9:20

(c)29:11 (d)11:29

A number if reduced by 25% becomes 225. By what
percent should it be increased so that it becomes
375?

(@) 2.5% (b) 30%

(0)35% (d)75%

Out of two numbers, 40% of the greater number is
equal to 60% of the smaller,if the sum of the
numbers is 150, then the greater number is

()70 (b) 80

()90 (d) 60

If A's height is 10% more than B's height, by how
much per cent is B's height less than that of A?

(@) 10% (b)91/9%

(c)111/11 % (d) 100/9%

Given that, 10% of A's income = 15% of B's income
= 20% of C's income. If sum of their incornes is R
7800, then B's incone is :

(a) 3600 (b) 3000

(c) 2400 (d) 1800

If three-fifth of sixty percent of a number is 3
number is

(a) 100 (b) 80

()75 (d) 90

A's salary is 50% more than that uch
percent is B's salary less than that'ef A

() 50% (b) 100/3
(c)45% (d)200/3%
If Nita's salary is 25 p
salary, then the perce
salary is less than
(@) 15%
(c) 25%

or’th Papiya's
y which Papiya’s
is:

money as that of Y and Y has
than that of Z.if the average
f them is Rs. 110, then the money

(a) 55
(c) 90  (d) 180

If x earns 25% more than y. What percent less does
y earn than x?

(@) 16% (b) 10%

() 20% (d) 25%

Tulsilam's salary is 20% more than that of Kashyap.
If tulsiram saves Rs. 720 which is 4% of his salary,
then Kashyap's salary is

(a) Rs 15,000 (b) Rs. 12,000

(c) Rs. 10,000 (d) Rs. 22,000
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Two numbers are less than a third number by 30%
and 37% respectively. The percent by which the
second number is less than the first is:

(@) 10% (b) 7%

(4% (d)3%

Mita’s income is 25% more than that of Sita. What
percent is Sita’s income less then that of Mita?

(@) 25% (b) 24%

(c) 45/2% (d) 20%

If A's income is 25% less than B's income then by
what percent is B's income more t
(@) 25% (b) 30%

(c) 100/3% (d) 200/3¢
A's salary is 40% of B's salar
more than C's salary t
percentage more than

(a) 50% (b) 100

(c) 150% (d) 200%

lary is 25%
y is how much

If A's income is | than that of B's, then B
income is what percent more than that of A?

(a) 125 0%

(c) 75% %

% more than B's salary then B's
w much percent less than A's salary?

(d) 27.5%

exceeds B by 60% and B is less than C by 20%,
then A: Cis:

(@) 32:25 (b)25:32

(c)8:5 (d)4:5

In an examination 93% of students passed and 259
failed. The total number of students appearing at
the examination was:

(a) 3700 (b) 3850

(c) 3950 (d) 4200

If 24 carat gold is considered to be hundered per
cent pure gold, then the percentage of pure gold in
22 carat gold is:

(@) 367/4 % (b) 275/3 %

(€)274/3 % (d) 272/3%

If 30% of A is added to 40% of B, the answer is 80%
of B, What percentage of A is B?

(@) 30% (b) 40%

(c)70% (d) 75%

First and second number are less than a third
number by 20% and 40% respectively. The second
number is less than the first by:

@7% (b)4%

(©)3% (d)25%

One-third of a number is 96,what will 67% of that
number be?

(a) 192.96 (b) 181.44

(c) 169.92 (d) 204.48.

If x% of a is the same as y% of b, then z% of b will
be

(a) yz/x % of a (b) zx/y % of a

(©) xy/z % of a (d)y/z% ofa

If y% of one hour is, 1 minute 12 seconds, then y is
equal to
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(a)2 (b1

(c)1/2 (d)1/4

A team played 40 games in a season and won 24 of
them.What percent of games played did the team
Win?

(@) 70% (b) 40%

(c)60% (d)35%

A number is divided into two partsin such a way
that 80% of 1st part is 3 more than 60% of 2nd part
and 80% of 2nd part is 6 more than 90% of the 1
part, Then the number is:

(@)125 (b)130

(c)135 (d) 145

A number, on subtracting 15 from it reduces to its
80%,What is 40% of the number ?

()75 (b) 60

(c) 30 (d)9o

498 is 17% less than a number then the number is:
(a)610 (b) 580

(c)600 (d) 620

Given A is 50% larger than C and B is 25% larger
than C, then A is what percent larger than B?

(@) 25% (b) 50%

(0)75% (d) 20%

What is to be added to 15% of 160 so that the sum
may be equal to 25% of 240

(a) 24 (b) 84

(c) 60 (d) 36

A number when reduced by 10% gives 30 as result.
The number is :

(a)67/2 (b)100/3

(c) 40 (d) 35

If 15% of x is same as 20% of y then x : y is

(2)4:3 (b)5:4
(c)6:5 (d)3:4
In an examination. A got 25% riark
got 10% less than C and C got 2

D got 320 marks out of 500, the ma
A were

(a) 405  (b) 450 *
(c)360 (d) 400
A number increase
The number is;

B,B
than D If
obtained by

y % gives 98 as result

(a) 45 (b) 1
(c) 80
de 75% of a number, the answer

ind 40% of that number,

(c) 120
The number that is to be added 10% of 320 to have
the sum as 30% of 230 is:

(a) 37 (b) 23

(c) 23 (d) 73

If X is 20% less than Y,then find the value of (Y -
X)/Y and X/(X-Y):
(a)1/5,-4
(©)2/5,-5/2

(b)5,-1/4
(d)3/5,-3/5
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In a village 30% of the population is literate. If the
total population of the village is 6,600, then the
number of lilterate is:

(a) 1980 (b) 4620

(c) 2200 (d) 3280

If A's salary is 50% more than that of B, that B's
salary is less than A's by :

(@)33% (b)121/3%

(c)133/3% (d) 100/3%

Two numbers A and B are such that the sum of 5%
of A and 4% of B is 2/34 of the su % of A and
8% of B. the ratio A:Bis:
(a)4:3 (b)3:4
(gg1:1  (d)2:3

A number is increased
original number, it is to
(a) 10x/ (10+x) %

(0 x%  (d)x/(L00+x)
One-fifth of half

that number is

get back in the
ed by?
00x (10+x)%

ber is 20. Then 20% of
4

90 is equal to 60% of ?
b) 125

(@) 250 (b) 350

(c) 450 (d) 550

Price of sugar rises by 20%. By how much percent
should the consumption of sugar be reduced so that
the expenditure does not change ?

(@) 20% (b) 10%

(c)50/3 % (d) 15%

What percent decrease in salaries would exactly
cancel out the 20 percent increase?

(@) 20% (b)50/3%

(c) 100/3% (d) 18%

If food prices go up by 10%, by how much should a
man reduce his consumption so as not to increase
his expenditure?

(2)100/11% (b) 10%

(c)101/11% (d) the data is not sufficient

The price of an article is decreasedby 10%. To
restore its former value the new price must be
increased by:

() 10% (b) 11%

(c) 89/8% (d) 100/9%

In the new budget, the price of kerosene oil rose by
25%. By how much per cent must a person reduce
his consumption of kerosene oil so that his
expenditure on it does not increase.

(@) 20% (b) 25%

(c)50% (d)40%

Salary of a person is first increasedby 20%, and
then it is decreased by 20%. Then the percentage
change in his salary is :

(a) 4% decreased (b) 8% increased
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(c) 8% decreased (d) 20% increased

A number is increased by 20% and then it is
decreased by 10%. Find the net in cease or
decrease percentage

(a) 10% increase (b) 10% decrease

(c) 8% increase  (d) 8% decrease

The tax imposed on an article is decreased by 10%
and its consumption is increased by 10%. Find the
percentage change in revenue from it.

(a) 10% increase (b) 2% decrease

(c) 1% decrease (d) 11% increase

The price of an article was increased two times
successively by 10% each time. By what percent
should the new price be reduced so as to restore
the original price.

(@) 15% (b) 17.36%

(c)17% (d) 16.36%

If price of a book is first decreased by 25% and then
increased by 20%, the net change in the price of the
book will be :

(a) 10% decrease (b) 5% decrease

(c) no change (d) 5% increase

A number is increased by 10% and then it is
decreased by 10%.The net change in the number is:
(a) 2% decrease (b) 1% increase

(c) 2% increase  (d) 1% decrease

A worker suffers a 20% cut in his wage, He may
regain his original wages by obtaining a rise of how
much %.

(@) 27.5% (b) 25.0%

(c) 22.5% (d) 20.6%

The salary of a person was reduced by 10%.
what percent should his reduced salary be g@ised s
as to bring it up with his original salary?
(@)9%  (b) 100/9%

(€) 100/11% M11% &
A number is increased by 20%
20%. By what per cent shoul
number be reduced so as to)get bg:
number?

(@) 275/9%
(c)40% (d)44%

again by
e “Increased
e original

yees working in a farm is
the wages per head are

decreased it result in X% decease in total
wages,

(a) 0%

()

The price'of an article was increaseby r%. Later the

new price was decreased by r% If the latest price
was Rs 1, then the original price was

(@1 (b) (1-r?))/100

(¢) (V1-r2) /100 (d) (10000/10000-r2)
The price of petrol is increased by 25%. By how
much percent a car owner should reduce his
compution of petrol so that the expenditure on
petrol would not be inceased?

(@) 25% (b) 30%

(c)50% (d) 20%
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A number is first decreased by 10% and then
increased by 10%.The number so obtained is 50
less than the original number. The original number
is:

(a) 5900 (b) 5000

(c) 5500 (d) 5050

The Government reduced the price of sugar by 10
per cent. By this a consumer can buy 6.2 kg more
sugar for Rs 837 The reduced price per kg of sugar
is

(a) Rs. 12.50 (b)Rs. 13.00
(c) Rs. 13.50 (d) Rs. 14.0
The price of sugar is incr,
expenditure of sugar has to
earlier, the ratio be

consumption and the o &
(@1:2 (b)1:4

keptithe same as
reduction in
nsumption is:

16 (d) 1:

If the price of a ity is decreased by 20%
and its consumption is increased by 20%, what will
be the i ordecrease in the expenditure on
the co ity

(b) 4% decrease
ease (d) 8% increase
ice of a certain item is increased by 15% If a
nsumer wants to keep his expenditure on the
the same as before, how much per cent must
he reduce his consumption of that item?
(@)15% (b)300/23%
(c)50/3% (d)250/23%
If the price of petrol be raised by 20%, then the
percentage by which a car owner must reduce his
consumption so as not to increase his expnditure
on petrol is:
(@) 49/3% (b)50/3%
(c)47/3% (d) 46/3%
A number is first increased by 10% and then it is
further increased by 20%. The original number is
increased altogether by:
(a)30% (b)15%
(c)32% (d) 36%
The length of a rectangle is increased by 10% and
breadth decreased by 10% The the area of the new
rectangle is:
(a) neither deceased or increased (b)
by 1%
(c) decreased by 1% (d) decreased 10%
B got 20% Imarks less than A.-What percent marks
did A got more than B?
(@) 20% (b) 25%
(c)12% (d) 80%
Bhuvnesh' salary was reduced by 10% and then the
reduced salary was increased by 10%. His new
salary in comparison With his original salary is :
(a) the same (b) 1% more
(c) 1% less (d) 5% less
If the price of a commodity is increased by 50% by
what fraction .must its consumption be reduced so

increased
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as to keep the its

consumption ?

(@1/4 (b)1/3

(c)1/2 (d)2/3

If the duty on an article is reduced by 40% of its
present rate by how much per cent. must its
consumption increase in order that the rewenue
remains unaltered?

(@) 60% (b)187/3 %

(c)72% (d)200/3%

If the price of sugar is raised by 25%, find by how
much percent a house holder comsumption of
sugar so as not to be increased his expenditure?

(@) 10% (b) 20%

(c)18% (d) 25%

The price of an article is reduced by 25% but the
daily sale of the airticle is increased by 30%.The net
effect on the daily sale receipts is:

(2)5/ 2% increase (b) 5/2% decrease

(c) 2% increase  (d) 2% decrease

The price of sugar is reduced by 20%. Now a person
can buy 500g more sugar for R 36. The original
price of the sugar per kilogram was:

(a) Rs.14.40 (b) Rs.18

(c) Rs.15.60 (d) 16.50

The salary of a person is decreased by 25% and
then the decreased salary is increased by 25%. His
new salary in comparison with his original salary
is:

(a) the same (b) 6.25% more

(c) 6.25% less (d) 0.625% less

Two successive price increases 10% and 10% on
article are equivalent to a single price incredse of

same expenditure on

(@) 19% (b) 20%
(0)21% (d)22%
The price of an article was fir§e in 10%
and then again by 20%. If the ldstin sed price

was Rs. 33, the original price was
(a) Rs. 30
(c)Rs. 26.50

and the resulting
20% ,what percent is

(a) 48%
(c) 41%

i in the price of wheat enables
y 5 kg more wheat for rs. 320 . The

(c) 20 (d) 21

A reduction of 25% in the price of rice enables
Bhuvnesh to buy two kg more rice for R 240. The
reduced per kg price of rice is

(@) Rs.30 (b) Rs 25

(c)Rs 20 (d)Rs15

The price of an article is reduced by 25% but the
daily sale of the article is increased by 30%. The net
effect on the daily sale receipts is

(a) 5/2% increase (b) 5/2% decrease
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(c) 2% increase  (d) 2% decrease

The cost of an, article was Rs. 75. The cost was first
increased by 20% and later on it was reduced by
20%. The présent Cost of the article is

(@) Rs. 72 (b)Rs.60

(c)Rs.75 (d)Rs.90

The price of a commodity rises from Rs.6 per kg to
Rs.7.50 per kg.If the expenditure cannot increase,
the percent,age of reduction in consumption is:

(a) 15% (b) 20%
() 25% (d) 30%
The price of a commodity has i se 60%. By
what percent must a consu reduce the
consumption of the comm as not to

increase the expenditur
(@)37% (b)37.5%
(c) 40.5% (d) 60%
When the price ofian a
its sale increased 8

cle was reduced by 20%,
.What was the net effect

on the sale?
(a) 44% e {b) 44% decrease
(c) 66% ea (d) 75% increase

of cloth was reduced by 25%, the
cloth sold increased by 20%. What was

(b) 5% decrease

10% increase (d) 10% decrease

The cost of an article Worth Rs. 100 is increased by
10% first and again increased by 10%. The total
increase in rupees is

(a) 20 (b) 21

(c)110 (d)121

When the price of sugar decreased by 10%, a man
could buy 1 kg more for Rs. 270. Then the original
price of sugar per kg is:

(a) Rs. 25 (b)Rs.30

() Rs.27 (d) Rs.32

A reduction of 10% in the price of an apple enables
a man to buy 10 apples more for Rs. 54. The
reduced price of apples per dozen is

(a)6.48 (b)12.96

(c) 10.80 (d)14.40

If the height of a cylinder is increased by 15% and
the radius of its base is decreased by 10% then the
percentage change in its curved surface area is :

(a) 2.5% increase (b) 3.5% increased

(c) 2.5% decreased (d) 3.5% decreased

A's salary is increased by 10% and then decreased
by 10%. And then decrease by 10% . then change
in salary is:

(@) 0%  (b) 1% decrease

(c) 1% increase  (d) 2% decrease

If the price of rice be raised by 25% the percent by
which a house holder must reduce his consumption
of rice so as not to increase his expenditure on rice
is:

(a) 22.5%
(c) 25%

(b) 25.75%
(d)20%
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Price of milk has increased by 20% To keep the
expandutre un changed, the present consumption
is to be reduced by

(@)20% (b)18%

(c)10% (d)50/3%

If a number is increased by 25% and the resulting
number is decreased by 25%, then the percentage
increase or decrease finally is

(a) no change (b) decreased by 25/4%

(c) increased by 25/4%  (d) increased by 6%
The price of an article is first decreased by 20% and
then increased by 30%. If the resulting price is Rs.
416, the original price of the article

(a) Rs. 350 (b) Rs.405

(c) Rs. 400 (d) Rs. 450

If each side of a cube is increased by 10% the
volume of the cube will increase by:

(@) 40% (b) 30%

(c) 33.1% (d) 25%

The difference between the value of the number
increased by 20% and the value of the number
decreased by 25% is 36. Find the number

(@72 (b)08

(c) 720 (d) 80

A number is first decreased by 20% the decreased
number is then increased by 20%The resulting
number is less than the original num ber by 20.
Then the original number is

(a) 200 (b) 400

(c)500 (d) 600

price of itemi per kg is:

(a) Rs.5.50 (b)Rs. 7.50
(c) Rs.10.50 (d) Rs.7.00
The percentage increase in tHe s of a

cube when each side is doubled i
(a) 200% (b) 300%

() 150% (d) 50%

In a factory, the produc 0
from 40,000 in Z2years.
annum is?

() 10.5% (b) 9

(8% (d)1

Water tax i§,1 ed by 20% but its consumption
is decr 20%. Then the increase or decrease
inthe e re of the money is

(a) inckease  (b) 4% decrease

(c) No change (d) 5% decrease

If radius of a circle is increased by 5% then he
increase in it's area is

(@) 10.25 % (b)5.75 %

(0)10% (d) 5%

the price of an antique is reduced by 20% and then
this price is again reduced by 10%.The total
reduction of the price is

(@) 25% (b) 23%

(c)30% (d) 28%

cle?ro to 48,400
te of growth per

e
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In an examation there were 1000 boys and 800
girls. If 60% of the boys and 50% of the girls
passed. Find the percentage of the failed candidates
?

(a) 46.4% (b) 48.4%

(c) 44.4% (d) 49.6%

In an examination a candidate must secure 40%
marks to pass. A candidate, who gets 220 marks,
fails by 20 marks, Find the maximum marks for the
examination?

(a) 1200 (b) 300

(c) 600  (d) 450

In a class 60% of the stude
45% pass in Sanskrit. If 25%
subjects, what percent

tudents fail in

both the subjects?
(@) 80% (b) 75%
(c)20% (d) 25

In an examination“ZQY the candidates passed in
English, 80% passed in Mathematics 10% failed in

both th ts #144 candidates pased in both,
the tota nber of candidtes was :
0
d) 375

is 3: 2. If 20% of boys and 25% of girls are
Its, the perceratage of those students who are
not adults is:

(@) 58% (b) 67.5%

(c)78% (d) 82.5%

The ratio of the number of boys to that of girls in a
school is 4: 1. If 75% of boys and 70% of the girls
are scholarship-holders, then the percentage of
students who do not get scholarship is:

(a) 50% (b) 28%

(6)75% (d) 26%

A student has to obtain 33% of total marks to pass.
He got 25% of total marks and failed by 40 marks.
The number of total marks is :

(@) 800 (b) 300

(c) 500 (d) 600

In an examination, 70% of the candidates passed in
English , 80% passed in mathematics and 10%
failed in both the subjects. If 84 candidates passed
in both, the total number of candidates was:

(@) 125 (b) 200

(c)240 (d)375

A candidate who goes 20% marks in an
examination failed by 30 marks but another
candidate who gets 32% gets 42 marks more than
the pass marks then the percentage of pass marks
is:

(@) 52% (b) 50%

(c)33% (d) 25%

In an examination there were 640 boys and 360
girls, 60% of boys and 80% of girls were
successful.The percentage of failure was:

() 20% (b) 60%

(c) 30.5% (d) 32.8%
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In an exalmination, 34% failed in Mathematics and
42% failed in English. If 20% failed in both the
subjects, the percentage of students who passed in
both subjects was:

(a) 54% (b) 50%

(c) 44% (d)56%

A candidate secured 30% marks in an examination
and failed by 6 marks, Another secured 40%. marks
and got 6 marks more than the pass marks. The
maximum marks are:

(a) 150 (b) 120

(c)100 (d) 180

Two students appeared at an examation one of
them secured 9 marks moe than then the other and
his mere 56% of the sum of their maks. The marks
obtained by them are:

(a) 12,33 (b)43,34

(c) 41,32 (d)39,30

In an examination, 52% students failed in Hindi and
42% in English. if 17% failed in both the
subjects,what percentage of students passed in
both the subjects?

() 38% (b)33%

(c)23% (d)18%

In a group of students, 70% can speak English and
65% can speak Hindi, If 27% of the students car
speak none of the the two languages, then what
percent of the group can speak both the languages ?

() 38% (b) 62%

(c)28% (d)23%

25% of the candidates who appeared

examination failed and only 450 students qua

the exam. The number of students who appéared i

the examination was:

(a) 700 (b) 600

(¢)550 (d) 500 2

In a school 40% of the students“pla tball and

50% play cricket. If 18% of the stddents neither

play football nor cricket, the perce e of the

students playing both is *

(a) 40% (b) 32%

() 22% (d) 8%

In a class, the of girls is 20% more then

that of the b, ngth of the class is 66. If 4

more girls ted to the class, the the number
girls is:

(0T :
In two suecessive years 100 and 75 students of
aschool appeared at the final examination.

respectively 75% and 60% of them passed The
average rate of pass is:

(a) 480/7 % (b) 78%

(c)161/2% (d)8%

A student has to secure mimimum 35% marks to
pass in an examination. If he gets 200 marks and
fails by 10 marks, then the maximum marks are:

(@) 300 (b) 400

(c)500 (d) 600
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A candidate who scores 30 percent fails by 5 marks,
while another candidate who scores 40 percent
marks gets 10 more marks than minimum pass
marks, The minimum marks required to pass are:
(a) 50 (b) 70

(c)100 (d) 150

In an examination, 65% of the students passed in
Mathematics, 48% passed in Physics and 30%
passed in both. How much per cent of students
failed in both the subjects?
(@) 17% (b)43%

(c)13% (d)47%

72% of the students of a cer

took Biology

least one subject from
40 took both then the
the class is :

() 200 (b) 24

() 250 (d)320

In an examination 60% of the candidates passed in
English o%®of the candidates passed in
Mathe 5 t 20% failed in both of these

0 candidates passed in both the
e number of candidates who appeared
examination was:
) 3000 (b) 3500
000 (d)5000
In a test a student got 30% marks and failed by 25
marks, In the same test another student got 40%
marks and secured 25% marks more than the
essential minimum pass marks, The maximum pass
marks for the test were
(a) 400 (b)480
(c)500 (d) 580
In a village each of the 60% of families has a cow
each of the 30% of families has a buffalo and each
of the 15% of families has both a cow and a buffalo.
In all there are 96 families in the village. How many
families do not have a cow or a buffalo?
(a) 20 (b) 24
(c) 26 (d) 28
In an examination, 80% of the boys passed in
English and 85% passed in Mathernatics, while
75% passed in both. If 45 boys failed in both. The
number of boys who sat for the exarmination Was:
(a) 400 (b) 450
(c) 200 (d)150
In an examination, 35% of the candidates failed in
Mathematics and 25% in English. If 10% failed in
both mathematics and English, then how much
percent of candidates passed in both the subjects?
(@) 50% (b)55%
(€)57% (d) 60%
In an examination, a student had to obtain 33% of
the maximum marks to pass. He got 125 marks and
failed by 40 marks,The maximum marks were
(@) 500 (b)600
() 800  (d)1000
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For an examination it is required to get 36% of
maximum marks to pass, A student got 113 marks
and failed by 85 marks. The maximum marks for
the examination are::

(a) 590 (b) 550

(c)565  (d) 620

A student scored 32% marks in science subjects out
of 300. How much should he core in language
papers out of 200 if he is to get overall 46% marks?
@ 72% (b) 67%

() 66% (d) 60%

90% of the students in school passed in school
passed in English, 85% passed in Mathematics and
150 students passed in both the subjects. If no
student failed in both the subjects, find the total
number of students.

(a) 120 (b) 220

(c)200 (d)300

In a college, 40% of the students were allotted
group A, 75% of the remaining were given group B
and the remaining 12 students were given group C.
Then the murnber of students who applied for the

group is:
(@) 100 (b)60
(c) 80 (d) 9z

The ratio of the number of boys and girls in a school
is 2 :3. If 25% of the boys and 30% of the girls are
scholarship holders, the percetange of the school
students who are not scholarship holders is :

(@) 72% (b) 36%

(c)54% (d) 60%

In the annual examination Ankita got, 10%
marks than Eakta mathematics, Ankitageot 8
marks. the marks of Eakta are:

(a) 90 (b) 87
(c) 88 (d) 89
In an examination, 19%

percentage of students
(a) 36% of all stude

) 78% of all students
must get 36% marks
ets 190 marks failed by 35

the number of boys to that of girls in a
village is°3% 2. If 30% of boys and 70% of girls
appeared in an examination, the ratio of the
number of students, appeared in the examination to
that not appeared in the same examination is
(@1:1 (b)27:23

(c)9:14 (d)23:27

In an examination there are three subjects of 100
marks each. A student scores 60% in the first
subject and 80% in the second subject. He scored
70% in aggregate, His percentage of marks in the
third subject is
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(a) 80 (b) 60

(c) 65 (d)70

A person gave 20% of his income to his elder son,
30% of the remaining to the younger son and 10%
of the balance, he donted to a trust, He is left with
10080. His income was:

(a) T50000 (b) T40000

(c)T30000 (d)x20000

Ram spends 40% of his salary on food, 20% on
house rent, 10% on entertainment and 10% on
conveyance. If his savings at the e month are
Rs. 1500, then his salary per m
(a) Rs. 8000 (b) Rs. 75
(c) Rs. 6000
Out of 2500 people, G
habit. If 30% save with(b
and the rest
shareholders are

ave the saving
2% with post office
the number of

(a)450 (b) 570

(c) 950 1250

Bhuvne s 30% of his salary on food and
do o im/a charitable trust. He spends Rs.

two items, then total salary for that

th ise

,000 (b) Rs. 8,000

Rs. 9000 (d) Rs. 7,000

an had a certain amount with him. He spent
20% of that to buy an article and 5% of the
remaining on transport. Then he gifted Rs. 120. If
he is left with Rs. 1400, the amount he spent on
transport is:

(@) Rs. 76 (b) Rs. 61

(c)Rs.95 (d)Rs.80

In a big garden 60% of the trees are coconut trees.
25% of the number of coconut trees is mango trees
and 20% of the number of mango trees is apple
trees. If the number of apple trees in the garden is
1440 then find the total number of trees in the
garden:

(2)48000 (b)50000

(c)51000 (d) 45000

Out of his total income, Mr. Kapur spends 20% on
house rent and 70% of the rest on house-hold
expenses. If he saves Rs. 1800, what is his total
income (in rupees)?

(a)Rs. 7800 (b) Rs. 70000

(c) Rs. 8000 (d) Rs. 7500

Bhuvensh spends 75% of his income and saves the
rest. His income is increased by 20% and he
increases his expenditure by 10%. Then the
increase in savings (in percentage) is:

() 50% (b)52%

(c)45% (d) 48%

Mr. X spends 35% of his salary on food and 5% of
his salary on children’s education. In January 2011,
he spent Rs. 17,600 on these two items. His salary
for that month is:

(a) Rs.40000 (b)Rs.44000

www.jkchrome.com



228.

229.

230.

231.

232.

233.

234.

235.

236.

16 www.jkchrome.com

(c) Rs.48000 (d) Rs.46000

A Man gives 50% of his money to his son and 30%
to his daughter 80% of the test is donated to a trust
if he is left with 16000 now how much money did
he have in the beginning?

(a)Rs. 400000 (b) Rs.40000

(c) Rs. 90000 (d) Rs.80000

8% of the voters in an election did not cast their
votes in this election there were only two
candidates the winner by obtaining 48% of the total
wards defeated his contestant by 1100 voters the
total number of voters in the election was;

(a) 21000 (b)23500

(c)22000 (d)27500

in an election between two candidates 75% of the
voters cast their votes out of which 2% votes were
declared invalid a candidate got 9261 votes which
were 75%of the valid votes the total number of
voters enrolled in that election was:.

(a)16000 (b)16400

(c) 16800 (d) 18000

a man spends 25/ 2% of his salary on items of daily
use and 30% of the remainder on house rent after
that he is left with rupees 2940 how much is his
salary

(a) Rs. 4800 (b) Rs. 5200

(c) Rs.4500 (d) Rs.4000

In an election between two candidates, the
candidate getting 60% of the votes polled is elected
by a majority of 14000 votes. The number of vote
obtained by the winning candidates is:

(2)28000 (b)32000

(c) 42000 (d) 46000

A man spends 40% of his monthly salaryien fo

and one-third of the remaining e
saves Rs. 4500 per month whidh is f the
balance after spending on food sport, his

monthly salary is:
(a) Rs. 11250

(c) Rs. 25000 (AR
In an election there wer
of the candidates
defeated by th
total number, of

lled is;

e total number of voters is 104000,
then the number of valid votes polled in favour of
the candidate is:

(a)56506 (b) 56650

(c) 56560 (d) 56056

Two candidates contested in an election. One got
60% of the votes and won by 1600 votes. What is
the number of votes polled:

(a) 9000 (b) 8000

(c)10000 (d) 7500
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In an election, there are three candidates contested.
The first candidates got 40% votes and the second
got 36% votes. If total number of votes polled were
36000, find the number of votes got by the 3rd
candidate.

(a) 8040 (b) 8640

(c) 9360 (d)9640

Two persons contested in election of Parliament.
The winning candidate secured 57% of the total
votes polled and won by a majority of 42000 votes,
the number of total votes polled is:
(a)500000 (b) 600000
(c) 300000 (d)40000
In an election, a candidate
votes is elected by a maj
the total number of vote

84% of the
votes. What is

(a)900  (b)810

(c)600  (d) 70

At an election e 4#Were two candidates. A
candidate_got 38% of the votes and lost by 7200.
The tot. r dPvalid votes are:

(a)130 13800

000
as 64000 inhabitants. If the population

(a) 70000
(c)68921 (d)68911

The value of a property depreciates every year by
10% of its value at the beginning of the year. The
present value of the property is Rs. 8100. What was
its value 2 years ago?

(6)69200

(a) Rs. 10000 (b) Rs.(90/11)2x 100
(c)Rs.(100/101)2x 8100 (d) Rs.9801

The population of a village has increases annually
at the rate of 25%. If at the end of 3 years it is
10,000 the population in the beginning of the first
year was:

(@) 5120 (b)5000

(c) 4900 (d)4500

The population of a town 2 years ago was 62500.
Due to migration to big cities, it decreases every
year at the rate of 4%. The present population of
the town is;

(2)57600 (b)56700

(c) 76000 (d)75000

The population of a town increases every year by
4%. If population was 50000 in starting, then after
2 years it will be:

(a)53900 (b)54000

(c) 54080 (d) 54900

The value of a commodity depreciates 10%
annually if it was purchased 3 years ago and its
present value is Rs. 5832. What was its purchase
price?
(a)Rs.7200
(c) Rs. 8000

(b) Rs.7862
(d)Rs.8500
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A man received Rs. 880000 as his annual salary of
the year 2007 which was 10% more than his annual
salary in 2006. His annual salary in the year 2006
was:

(a) Rs.480000 (b) Rs.800000

(c) Rs. 400000 (d) Rs.840000

The value of equipment depreciates by 20% each
year. How much less will the value of the
equipment be after 3 years?

(2)48.8% (b)51.2%

(0)54% (d) 60%

Present population of a village is 67600, it has been
increasing annually at the rate of 4%. What was the
population of the village two years ago?

(a) 62500 (b) 63000

(c)64756 (d) 65200

The value of a property decreases every year at the
rate of 5%, if its present value is Rs. 411540, what
was its value 3 years ago?

(2)450000 (b)460000

(c)475000 (d)480000

The value of a machine depreciates by 5% every
year. if its present value is Rs. 200000, its value
after 2 years will be

(a)Rs. 180500 (b) Rs. 199000

(c) Rs. 180000  (d) Rs. 210000

If the population of a town is 64000 and its annual
increase is 10%, then its population at the end of 3
years will be:

(a) 80000 (b)85184

(c) 85000 (d)85100

10000 the present population is
(2)4600 (b) 6400

(c) 7600 (d) 6000 2

A clerk received an anuual salar R
year 1975. This was 20% more th
1974. What was his salary in{1974.

(a) 3005 (b)3000
(c) 3500 (d) 3050
The enhanced sala
after 20% incre

The population of a village decreases at the rat
20% per annum. If its population 2 years@

660 in the
iS"salary in

ine is Rs. 6250. It decreases by
first year, 20% during the second
o during the third year. What will be
the machine after 3 years?

(a) 2650 (b) 3050

(c) 3150 (d) 3510

the value of a machine depreciates every by 10%. If
its present value is Rs. 50000 then the value of the
machine after 2 year will be:

(a) 40050 (b) 45000

(c) 40005 (d) 40500

The value of a machine depreciates every year at
the rate of 10% on its value at the beginning of that
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year. If the current value of the machine is Rs. 729,
its worth 3 years ago was:

(a) 1000 (b) 750.87

(c)947.10 (d) 800

Raman’s salary is increased by 5% this year. If his
present salary is Rs. 1806, the last year’s salary
was:

(a) 1720 (b) 1620

(c) 1520 (d) 1801

The strength of a school increases and dereases in
every alternate year by 10%.
increase in 2000, then the stre
2003 as compared to thatin
(a) increased by 8.9%
(c) increased by 9.8%
The population of a to
4% of its total at b
population on 15{Janua
was it on 15t Janua 0

2001 was 500000, what

(a) 56243 (b) 652432
(c) 465 {d) 564232
The p ti of a village increase by 5%

resent populatin is 4410, then its
2 year ago was:

3800 (d) 3500

population of a town increases by 5% every
year. If the present population is 9261. The
population 3 years ago was:

() 5700 (b) 6000

(c) 7500 (d) 8000

The income of a company increases 20% per
annum. If its income is Rs. 2664000 in the year
2012. Then its income in the year 2010 was:

(a) 2120000 (b) 1850000

(c) 2820000 (d) 2855000

In an alloy, there is 12% of copper, to get 69kg of
copper, how much alloy will be required?

(a) 424 kg (b) 575 kg

(c) 828 kg (d) 5210/3 kg

40 litres of a mixture of milk and water contains
10% of water, the water to be added, to make the
water content 20% in the new mixture is:

(a) 6 litre (b) 6.5 litre

(c) 5.5 Itr (d) Sltr

A sample of 50litres of glycerine is found to be
adulterated to the extent of 20%. How much pure
glycerine should be added to it so as to bring down
the percentage of impurity to 5%.

(a) 155 ltr (b) 150 Itr

(c) 150.4 Itr (d) 140 Itr

Fresh fruit contains 68% water and dry fruit
contains 20% water. How much dry fruit can be
obtained from 100kgs of fresh fruits?

(a) 32kg (b) 40 kg

(c) 52 kg (d) 80kg
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1 litre of water is added to 5 litre of alcohol water
solution containing 40% alcohol strength. The
strength of alcohol in the new solution will be:

(@) 30% (b)33%

(c)101/3% (d) 100/3%

200 litres of a mixture contains 15% water and the
rest is milk. The amount of milk that must be added
so that the resulting mixture contains 87.5% milk
is:

(@) 30ltr (b) 35 Itr

(c)401ltr (d)45 ltr

In what ratio must a mixture of 30% alcohol
strength be mixed with that of 50% alcohol
strength so as to get a mixture of 45% alcohol

strength?
(@1:2 (b)1:3
(cJ2:1 (d)3:1

The ratio In which two sugar solutions of the
concentrations 15% and 40% are to be mixed to get
a solution of concentration 30% is:

(a)2:3 (b) 3:2

(c)8:9 (d)9:8

Avessel has 60 litres of solution of acid and water
having 80% acid. How much water is added to
make it a solution in which acid will be 60%?

(a) 481tr (b) 20ltr

(c) 36 1tr (d) none of these

75 gm of sugar solution has 30% sugar in it. Then
the quantity of sugar that should be added to the

solution to make the quantity of the 70% jn t
solution is:

(a) 125gm (b) 100gm

(c) 120 gm (d) 130 gm

How much water must be added to #00m}, of
percent solution of boric ack‘to e itt 0
percent solution?

(a) 30ml (b) 40 ml

(c) 50ml (d) 60 ml

In one litre of a mixture hol ahd water, water

is 30%. The amount of
to the mixture so
mixture becomes 1

(a) 1000 ml

(c) 300 ml

One type contains 20% water and the
second liquid contains 35% of water. A glass

part of first liquid and 4 parts of
id. The water in the new mixture in the
glass is:

(@37% (b)46%

(c)85/7 % (d)170/7 %

15 litres of a mixture contains alcoholand water in
the raio 1:4, if 3 litres of water is mixed in it, the
percentage of alcohol in the new mixture will be:

(@) 15% (b)50/3%

()17% (d)37/2%
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In what ratio must 25% of alcohol to be mixed with
50% of alcohol to get a mixture of 40% strength
alcohol?
(@ 1:2 (b)2:1
(c)2:3 (d)3:2
20 litres of a mixture contains 20% alcohol and the
rest is water. If 4 litres of water be mixed in it, the
percentage of alcohol in the new mixture will be:
(@) 100/3 % (b) 50/3%
(€)25% (d)25/2%
The percentage of metals in a mi
60%. Now the percentage of_si
metals and the rest is lea
extracted from this mine is
kg) of lead is:
(a) 4763 (b) 4764
(c)4762 (d)476
300 grams of su
it. How much su

lution?

@) 60 gms
(d) 80gms
of copper and aluminium, 30% is

w much aluminium powder should be

lead ore is

solution has 40% of sugar in

Id be added to make it

50% in th
(a) 10
(c)40¢g

comes 20%?

900gms (b) 800gms

(c) 1000gms (d) 1200gms

Due to an increase of 50% in the price of eggs, 4
eggs less are available for Rs. 24. The present rate
of eggs per dozen is:

(a) 24 (b) 270

(c) 36 (d) 42

Due to an increase of 20% in the price of eggs 2
eggs less are available for Rs. 24. The present rate
of eggs per dozen is:

(a) 25.00 (b) 26.20

(c)27.80 (d)28.80

If a man receives on one-fourth of his capital 3%
interest, on two third 5% and on the remaining
11% the percentage interest he receives on the
whole is:

(a)4.5% (b)5%

(6)5.5% (d)5.2%

A reduction in the price of apples enables a person
to purchase 3 apples for Rs. 1 instead of Rs. 1.25.
what is the % of reduction in price?

(@) 20% (b) 25%

(c)30% (d) 100/3%

The expenses on rice, fish and oil of a family are in
the ratio 12: 17: 3. The price of these articles is
increased by 20%, 30% and 50% respectively. The
total expenses of family on these articles are
increased by:

(a) 113/8% (b)57/8%

(c) 185/8% (d) none of these

The bus fare and train fare of a place from Kolkata
were Rs. 20 and Rs. 30 respectivley. Train fare has
been increased by 20% and the bus fare has been
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increased by 10%. Theratio of new train fair to new
bus fare is:

(@)11:18 (b)18:11

(c)5:3 (d)3:5

Ram’s expenditure and savings are in the ratio 5 : 3.
If his income increased by 12% and expenditure by
15%, then by how much percent does his savings
increase?

(@) 12% (b)7 %

(8% (d)13%

The ratio of two numbers is 4 : 5, when the first is
increased byb 20% and the second is decreased by
20%, then the ratio of the resulting numbers is:
(@4:5 (b)5:4

(c)5:6 (d)6:5

A man spends 75% of his income. His income
increased by 20% and he increased his expenditure
by 15%. His savings will then be increased by:

(@) 33% (b) 100/3 %

(c)35% (d)40%

A man spends 75% of his income. His income
increased by 20% and his expenditure also
increases by 10%. The percentage of increases in
his savings is:

(a) 40% (b)30%

(6)50% (d)25%

If the annual increase in the population of town is
4% and the present population be 17576, what was
it three years ago?

(a) 15675 (b) 15625

(c) 15624 (d) 15728

A student multiplied a number by 3/5 inst

5/3. What is the percentage error th
calculation?

(@) 44% (b)34%

(c) 54% (d)64% 2

In a town, the population was 0."In, one year,
male population in creased by 1 and female
population the total

increased by\\8% ﬁu
population increased b .Ghe
in the town was;

m of males

tax on a television set increases from
15/2% to 8%, what more amounts will have to be
paid for the television. Whose price (excluding sales
taxes) in Rs. 19000.

(a)190 (b)95

(c)180 (d)90

A fruit seller had some apples. He sells 40% apples
and still has 420 apples. Originally, he had:

(a) 588 (b) 600

(c)672 (d)700
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301.

302.

303.

304.

306.

307.

308.

3009.
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If the monthly salary of a fan employee is increased
by 8/3%, he gets 72 rupees more. His monthly
salary in ruppes is:-

(2)7200 (b) 3600

(c)2700 (d)2000

If the total monthly income of 16 persons is Rs.
80800 and the income of one of them is 120% of
the average income, then his income is:

(2)5050 (b) 6060

(c)6160 (d)6600

A spider climber 125/2% of the
in one hour and in the next housi
of the remaining height. If
then the distance climed in se
(a)3m (b)5m

(c)7m (d)9m

And individual pa 9
has to pay a surcharge
rate, he has to pay

of the pole
d 25/2%

e tax. On this tax he
10%. Thus, the net tax

(2)45% 40%
(©)33% 7%®
A bats scored 110 runs which included 3

8 sixes what per cent of his totoal
he make by running between the

(b) 500/11%

00/11% (d) 55%

If the numerator of a fraction is increased by 20%
and the denominator is decreaded by 5%, the value
of the new fraction becomes 5/2, the original
fraction is:

(2)24/19 (b)3/18

(c)95/48 (d)48/95

An invterval of 3 hours 40 minutes is wrongly
estimated as 3 hours 45.5 minutes. The error
percentage is:

(a)5.5% (b) 5.2%

(€)5% (d)2.5%

The ratio of the number of boys and girls in a school
is 3 : 2. If 20% of the boys and 30% of the girls are
scholarship holders, then the percentage of the
students who do not get scholarship is:

(@)50% (b)72%

(c)75% (d) 76%

If the income tax is increased by 19%, the net
income is reduced by 1%. The rate of income tax is:

(a)6% (b) 4%

(€)5% (d)7.2%

The population of a village was 9800. In a year with
the increase in population of males by 8% and that
of females by 5% the population of the village
became 10458. What was the number of males in
the village before increase?

(2)4200 (b) 4410

(c)5600 (d)6084

In the expression xy? the values of both variable x
and y are decreased by 20%. By this, the value of
the expression is decreased by:

(a) 40% (b) 80%
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(c)48.8% (d)51.2%

A and B are two fixed points 5 cm apart and C is a
point on AB such that AC is 3 cm. if the length of AC
is increased by 6%, the length of CB is decreased

by:
@6% (b)7%
(0)8% (d)9%

A man invests a part of Rs. 10000 at 5% and the
remainder at 6%. The 5% investment yields
annually Rs. 76050 more than the 6% investment.
The amount invested at 6% is:

(a) 3600 (b)3550

(c)3850 (d)4000

Each side of a rectangular field is diminished by
40%. By how much percent is the area of the field
diminished?

(a)32 (b)64

(c) 25 (d)16

Ram saves 14% of his salary while Shyam saves
22%. If both get the same salary and Shyam saves
Rs. 1540, what is the savings of Ram?

(@) 900 (b)980

(c)890  (d)880

The ratio of the number of boys and girls in a school
is 3 : 2. If 20% of the boys and 25% of the girls are
scholarship holders, then the percentage of the
students, who do not get the scholarship is:

(@A)78% (b) 75%

(c)60% (d)55%

When 60% of a number is subtracted from anothe
number, the second number reduces to its 52 e
ratio of the first number to the second number is:
(a)6:5 (b)5:3

(c)5:4 (d)4:5

In an examination in which full
got 25% more than C, C got 20%les
360 marks. What percentage offul

obtained by D?
@72%  (b) 80%
(©50%  (d) 60% L4

In an examinationg11
appeared, 50% of
passed the
candidates

s and 900 girls
and 40% of the girls
tion.” The percentage of

(2)45%
(c)50%
In a fac o of the workers are above 30 years
an se 75% are males and the rest are
females here are 1350 male workers above 30

years, the total number of workers in the factory is:
(2)3000 (b) 2000
(c)1800 (d)1500
In a class the average score of girls in an
examination is 73 and that of boys is 71. The
average score for the whole class is 71.8. find the
percentage of girls.
(a)40% (b) 50%
(c)55% (d) 60%
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321.

322.

323.

324.

325.

327.

328.

329.

330.

331.
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Tickets for all but 100 seats in a 10000 seat
stadium were sold. Of the tickets sold 20% were
sold at half price and the remaining tickets were
sold at the full price of Rs. 20. The total revenue
fromt the ticket sales, was:

(a)158400 (b)178200

(c)180000 (d)198000

31% of employees pay tax in the year 2008. Non-
tax employees are 20700. The total number of
employees is;

(2)31160 (b) 64750

(c)30000 (d)66775

The allowance of an employeefconstitutes 165% of
his basic pay. If he receives"Rs. 11925 as gross
salary, then his basic pa

(a) 4000 (b) 5000

(c)4500 (d)550

A saves 20% of monthly salary. If his monthly

expenditure is Rs. 0 then his monthly savings is:
(a)1500 1800
(c) 120 00>
The po ion Jof a town is 311250. The ratio of

ti is 43 : 40. If there are 24% literate
men and 10% illiterate, among men, the

(b)173700

(d) 173200

31% of employees pay tax in the year 2008. Non-
tax paying employees are 27600. The total number
of employees are:

(2)31160 (b)64750

(c)40000 (d) 66775

The population of a village is 25000. One-fifth are
females and the rest are males, 5% of males and
40% of females are uneducated. What percentage
on the whole is educated?

(@) 75% (b) 88%

(c)55% (d) 85%

A box has 100 blue, 50 red balls, 50 black balls,
25% of blue balls and 50% of red balls are taken
away, percentage of black balls at present is;
(@)50% (b) 25%

(c)100/3% (d) 30%

A dozens pairs of socks quoted at Rs. 180 are
available at discount of 20%. How much pairs of
socks can be caught for Rs. 48?

(a)3 pairs (b)4 pairs

(€)2 pairs (d) 5 pairs

The price of a school bag and a shoe are in the ratio
7 : 5. The price of the school bag is Rs. 200 more
than the price of the shoe. Then the price of the
shoe is:

(a) 200 (b) 700

(c)500  (d)1200

Three sets of 40, 50, 60 students appeared for an
examination and the pass percentage was 100, 90
and 80 respectively. The pass percentage of the
whole set is?

(2)266/3% (b) 254/3 %
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(c) 265/3 % (d) 253/3% 43a  44b 45a 46c 47a 48

332. The sum of two numbers is 520. If the bigger 49d 50d 51d 52c 53b 54
number is decreased by 4% and the smaller 55a 56b 57b 58d 59c 60
number is increased by 12% then the numbers 61lc 62d 63d 64d 65a 66
obtained are equal. The smaller number is: 67d 68c 69 a 70 c 71b 72
(a) 280 (b) 240 73c 74a 75c¢ 76d 77c 78
(c)210 (d) 300 79b 80b 81d 82c¢c 83a 84

333. In two successive years 80 and 60 students of a 85d 86¢c 87b 88b 89a 90
school appeared at the final examination of which 91a 92b 93d 94d 95a 96
60% and 80% passed respectively. The average 97a 98c 99c 100c 101c 102
rate of students passes is? 103d 104b 105a 108
(a) 68% (b)480/7 % 109a 110a 111a 114
(6)32% (d)36% 115d 116b 117b 120

334. A class has two sections, which contain 20 and 30 121d 122a 123a 126
students. The pass percentage of these sections are 127a 128d 129 132
80% and 60% respectively. The pass percentage of 133d 134d 135 138

whole class is: 144

(a) 60% (b) 68 % 147 150
(0)70% (d)78% 156
335. In a factory, the production of cycles rose to 48400 1 162
from 40000 in 2 years. The rate of growth per @651 168
annum is? 171c 174
(2)10.5% (b) 9% 177 b 180
(c)8% (d) 10% 183 ¢ 186
336. In an office 40% of the staff is female. 70% of the c 188d 189d 190c 191b 192
female staff and 50% of the male staff are married. 19 194b 195b 196d 197b 198
The percentage of the unmarried staff in the office 99d 200a 201a 202c 203d 204

is: 205b 206b 207a 208a 209b 210
(2)65%  (b) 42% 211c 212c¢ 213a 214a 215d 216

(c)60% (d) 64% K 217d 218d 219d 220b 221b 222
337. From 1980-1990 the population a countr S 223d 224a 225c 226a 227b 228
increased by 20%. From 1999-2000, the populat 229d 230c 231a 232c 233b 234
of the country was increased by 20%.fro 00 235d 236b 237b 238c 239d 240

2010 the population of the country was increas 241c 242a 243a 244a 245c 246
by 20%. Population of the countr§iform 19 247b 248a 249a 250d 251a 252
was increase by. L 2 253b 254d 255a 256c¢c 257d 258
(@) 72.2% (b) 72.8% 259a 260a 261la 262b 263d 264

265b 266d 267b 268b 269d 270

% and them,decreased 271b 272a 273b 274b 275d 276
esﬁ less than the 277d 278b 279c¢ 280b 281b 282
ber is 283c 284c 285d 286b 287a 288
289b 290b 291d 292c¢ 293¢ 294

295d 296a 297d 298b 299d 300

of his income on food 20% 301b 302d 303c 304b 305c 306

(c)60% (d) 62.8%

338. A number is increased by 1
by 25% and the numbe
original number. Thegori
() 140 (b) 160
(c)120 (d)1

339. Ifa person spen

on house 0% of the remaining on 307d 308c 309c 310c 311d 312
childre , then the percentage of his 313b 314b 315a 316d 317a 318
income 319a 320a 321b 322c 323c 324
(@ (b) 8% 325b 326c¢ 327b 328c 329b 330
(c)10% (d)12% 331a 332b 333b 334b 335d 336

337b 338b 339d
Answers:
Detailed solutions:

1lc 2d 3a 4d 5a 6
7c 8d 9a 10b 11a 12
13d 14 d 15b 16 a 17 c 18
19a 20 a 21b 22b 23b 24
25a 26 a 27 a 28a 29c 30
31c 32d 33d 34b 35d 36
37d 38d 39a 40 a 41a 42

QT T QT T n
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(c) 80% ofA =50% ofB 7.
- 80A/100 =50B/100

— 8A =5B
— 8A=5B
- =5B/8 8
Put the value of & in given equation,
B =x%ofA
— B=x/100 x5B/8
—x =100 % 8/5
- x=160 9.
{d) According to the question
= x = 80y/100
- x =4y/5
= u=4yf5
Required = y/(4y/5x 100) =5 x 100/4 10.
=125%
(a) According to the question
= 8x/100 =4y/100
— M = ¥ 11.
> x=y/2
= 20% of x = 20/100x y/2
Required% =y /10 =100
- 10 % ofy

{d) Let the number=x
According to the question,
X % 20/100 =120

X =600

Required answer

=600x 120/100 =720

Alternate:

20 % represents = 120

1% —»120/20

So, 120% =120/20 x&20 & 7209

(a) According to q 14.
7

Requ 25/75 % 100 15.

(C} According to the question

PxP/100 =36 16.

- P? = 3600
— P=60
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(b) Required% =2/50 x100 =4%

{d) Required% ={2/3)/(1/3)x100 =200%

{a) Accordingto the guestion
10/100 = m=20/100 xn

m/n =20/10 =2/1
M:N=2:1

{a) Required %
=5/4 %100
=125%

Always a:lu‘n% = afbf100

» 1/3 %15/ (100/100) =Rs. 5

(b) 30/100 xx =72
=72 x100/30 =240

(d) 15/100(A + B) = 25/100(A - B)
— 15A +15B =25A - 25B
— 404 =40B
- A=4B
Required%=A /B x 100
=4B/B =100
=400%

{d) Required answer
=300 % 1/4 x1/5 =15

(b) 25/2 xx /100 =150
= x =150 % 200/25 =1200

{a) 50 (x-4) =30 (x+y)

— 5x—5y =3x+ 3y

— 2% =8y

X=dy

Required% =y/x=x 100 =1/4 =100 =25%
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17.  (c) 50P =250 24. (d) According to the guestion,
2P =0 3040100 =0.25B =1C/5
Then,P=x /100 x2P = % =50 3/10 A =1B/4 =1C/5

(A/10)/3 =B/f4 =C/5
Requiredratioof A:B: C =10/3:4:5

18- (b) 20A/100 =508/100 A:B: C =10:12:15
2A =5B > A=5B/2 ’5
Required % ) (a) Required percentage
=B/Ax100 =2B/5B x100 =40% =0.01/0.1 %100 =10%

19. et the number=s
According to the question 26
- xx18/100 =12/100 %75 )
= 18x =12 %75
= x=12x75f/18 =50

(a) Letthe numbersarea b re
a=hbl\

According to the que
{a-b) =15/100

Hence, required number =50 (a-b) =3/20
20. (a) 25/2% =1/8 20a—20b =3a
=19/8 {3 = Income of Ram, & 175 = .
— Income of Shyam) a/b f
Accsrding to the gquestion ; -23:17
Ram : Shyam
Ratioof Income = 9 . g ccording to the guestion,
a
v : 1
-1 \-/(//

. i . -5
Required% =1/9=100 =100/9% Required% =5/6 x 100 =250/3%

21. (b) 20% =1/5 K
Required% =1/6 x 100 =50/3 28. {a) Required percentage =65/2000 x 100
Alternate: 0 =13/4%

X H ¥
o F 5B ‘
v 29 () 1%/2 =1/100x 2 =0.005
-1
Required % = 20/{100 10d*
=50/3%
22. {b} 1 hour 45 minW\= ,,I'rﬁﬂ :Tj'r-ﬂ- hr. 30. {b} REQUifEd% ={2 +45}’ﬁﬂ}j’24 % 100
REQUEFEd% = 4 x100 =7.291% =165 Klﬂﬂf{zﬂ- KEU}
=11.45%
23. | irefanswer 31. (¢} Required percentage = 0.001 x 100
= 100%90/100 x (100 - 40)/100 -

=90 x 60/100 =54

32.  (d) Required percentage = 0.001 x100
=0.1%
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(d) 60% of A 3B/4 42.

3/5A =3/4B
3/5A =3/4B
A/B=4/5 > A:B=5:4

{b) 30/100 (B-A) =18/100 (B+A) 43.

30B —304A
12B =48A
B =44
AfB =1/a
—-A:B=1:4
Hence requiredratio =1: 4
(d) Required percentage = 32/80 =100
=40%

=18B + 18A

{b) 50A/100 =30B/100
3 3A=B e (i)

B=X% ofA 45.

B =xA/100

= 3A = Ax /100

X =300

(d} 90% of A =30% ofB
90A =30B

- N (|

B =2x/100x A

— % =130
(d) Required percentage
={1206)/3 % 134 x 100
=402/134 =100

= 300% *

(a) 120a/100 =80b/100 48.

—=3a/2b 'S

A =2bf3 putval given equation
= (b+a)/(b-a) 1/[b-2b/3) =
(5b/3}/(b/3)
= (b+a)/
(a) 20/1 = 50/100 (B)

49.

put value of A in given equation
=(2A-B) /({28 +B) =([3B-B)/(3B+B) =
2B/4B =Mk
[a) 2/5{A+B) =3/5 (A-B)

2A+2B =3A-3B

A =5B
Put value of a in given equation
=(28-3B)/(A+B) =7B/6B =7/6
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(d) Required percentage

=72/3.6 x 10000 =100 =2%

(a) X x125/100 =100 - x =80

(b) 50/100 (P-Q) = 30/100 (B+
5P -50 =3P +3Q

2P =80
'En

P =4Q
edfalue of x = 25

Putvalue of P in
QO =P = x,/100
00 + 380 = 40,/100 =% =637

Q:#G_xx}lﬂ
==

required answer = 2/7

{c) Required answer
=27/100 = 36/100 = 5/9 »x 4500
=243

(a) 1000 = 25/100 = 1/100 x1/100
Required answer=0.025

{a) Accordingto the question,

8x/100 =4y/100

B =AY isssisirese (i)

v B Y |

20% ofx =20/100 = x

From equation (i)

Required answer =20/100 xy/2 =10% ofy
{d) According to the question

A : B : C

1 : 2 5 (60A = 30B)
(A8 =1/2)

£=5

A =1

Required answer=5/1 x 100 = 500%
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(d} According to the gquestion, 55.

20A/100 =30B/100 = C/6

ArB =3 3»2
B :C =l5“’:‘/9rl
A:B:C=15:10:18
(d} 50% ofx =30% ofy
%y = 30%/50%

¥y =315

(c) 80% =4[5

Mote: In such type of guestions to make your
calculation easierassume numberwhichis
multiple of 5.

Let the number =5x

According to the question,

[5x = 80/100 = 4x]

A% + 80 =5x
X =80
Required number 57.

=5x =380x35 =400

(b) 200/3% =2/3
Let the income of the person=3 units
Expenditure = 2 units

Savings =(3-2) =1 units K
According to the question

1 units =Rs. 1200

2 units =Rs. 2 x1200 0

=Rs. 2400

(b) 20% =1/5, 25% =% @
Case (i) B : £

Ratio of Salaries

5 ¢ B ¢ 58.
Caselii) A : B
Ratio of
Salaries|

Required answer
=2/4%x100 =50%

www.jkchrome.com www.jkchrome.com

56.

www.jkchrome.com

(a) 40% =2/5, 20% =1/5

CasefijA : B
T
Casel(iij B : C
4 5
K e B =" @ 5\
B c= \\‘ 4 = s
A B C= 128 : 25
Hence, Required ratio
A €=
(b} Girls" % =70%
Thus, Boys" = 7
= 30%
According to the on,
30%% ntQ:S'lU
Total efofstudentsinschool

0 =1700
ired number of Boys
(100 - 60) = 60
=972/40 x 60 =1458
Required numberof boys

=1458
Alternate :
Ratio of No. boys and Girls
Boys Girls (100 - 60)%
60% : 40%
3 2 2
Girls =2 2unit - 572
1 unit - 972/2 =436

Boys— 3unit  — 3 x4806 =1458

(d) Mote: In percentage always assume data.
Which make your Calculation easier?
60% =3/5
Let the number=>5x
According to the question,
- 5xx3/5-60 =60
= % =120/3 =40
Hence, Required number
=53x =3=40
=200
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{c) 75% =3/4 64.  (d) According to the question

Let the number=4x ¥ =125 +(125 x10)/100 =137.5

According to the question, ®x =137.5 -137.5 =10/100

= 4xx3/4+75 =4x ¥ =137.5 -13.75

= 3 +7T5 =dx x= 12375

¥ =75 65. (a) Percentage of girls in school
= (100 - 70) = 30%

Required number
=4x=4x75 =200 According to the question,

30% of students,

{a) Letthe larger number
30% of students=50

= 3X

Smaller number =20 [given] Required number s
According to the question, =504/30 x70
= 5x—20 =20/1000 x 5x =168 =7
—5x—20 =x =1176
= dy = 20 Alternate;
< %=5 Boys = Girls
Hence, Larger number 70 30
=5x5 =25 7 ¢ 3

(c) Required answer x 168

=40/{100 - 40) =100 =40/60 =100

[1176] [504]

Hence, required numberofboys=1176

K i (c) Letthe third number=100

= 66.66%

Mote: For detailed solution follow the earlier According to the question,

given Important note. 120 150 100
+50
Alternate: +20%

40% =2/5
4 Reguired answer=120/150 = 100 = 80%
A : B 67. (d} Letthe third number= 100
According to the question,
R I 5 L 4 1% p i 37,
— 1125 : 125 : 100
Required percentage
Required® = 00 "=66.66% =112.5/125 %100 =90%
mberis 100 68. (c) According tothe question,
e equation 60 x Af100 =75 x B/100
3" 4A =5B
a0 100 B =4A/5
red% = 20/50 x 100 =40% A xx /100 =B [given]

Axx /100 =4A/5 = x =80
{d) Let the third numberis 100
According to the question,
b 20, 3,
75 &0 100
Required % =75/80 %100 =375/4%
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(a) Letthe numbers are 2x and 3x respective 74.
According to the question,

{2x+20/100 + 20) =(3xx=10/100 + 25)
2x/5+ 20 =3x/10 +25

Ixf10 — 2/5x% =-5

3x—4x =-50

2>x =50

Hence, required smaller number

=2 =2x50 =100

(c) Let the third number=100units

1. num. : 2" num 3. num

+ 20%

Required Ratio =120 : 150
=4 : 5

(b} Letthe numberbe x
—» xx15/100 x 45/100
—x =1560

— Required number=24/100 = 1560 76.

S

75.

=105.3

{c) Income of the person = Rs. 13500
Expenditure of the person=Rs. 3000
Savings of the person=Rs. (13500 - 9000)

=Rs. 4500
Expenditure Savings
L 4
Ratio of expenditure EJDEI‘ 4501

andsavings —
(7x2+xx1)/(
14+x =42

28 77.

Expenditure Saving
5000 ; 4500
3 ! 2 : 1
Lettheincome :  Expenditure @ Saving
300 - 200 = 100
l +14% l+m +28
New H2 - 24 =128

% change in savings= 28/100 x 100 =28%
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(c} Letthe large numberis a and the smaller
numberis b.

According to the question,

(a-b) =45/100 {a+b)

20a —20b =%9a+13b
1la =29b
afb =29/11

Requiredratioofa:B=29: 11

(c) Letthe greaterand smaller numberis a an
respectively

According to the questi

Case (i)ax 40/100 =b%60/1

2a =3b

a =3b/2

Case (i) a + 1
50/2 +b 2150

A

Sb =300 — 0
v b :gl put in equation (j)
A 0 =90

aternumber =90

10%
1/10

Height = 11 10

Required percentage =1/11 =100
=100/11%

Alternate:

By using formula.

Required percentage = 10/(100 + 10) = 100
=1000/110

=100/11 =100/11%

(c) According tothe guestion,

104 = 158 = 20C

A : B = 151‘:/101
B ; C = 207 15

A B :C= 300 : 200 : 100
A :B:C=6:%4 ;3
(6+4 +3)units =Rs. 7800
13 units = Ja0n
1 wnits = 600 x4
=Rs. 2400
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78.

79.

80.

81.

82.

83.

28 www.jkchrome.com

(a) Letthe numberbex,
According to the question,
xx60/100 x 8/5 =36

% = (36 %25)/9 > x =100

(b} Required percentage
=50/{100 + 50) % 100
=50/150 =100 =100/3%

Alternate:- 50% =4
A . B
3 : 2

e PR

Required percentage=1/3 = 100
=100/3%
(b} Required percentage
= 25/(100 + 25) %100
=25/{100 + 25) =100 =20%
Alternate: 25%

Nita Papiya
3 ¥ 4
M

-1

Required percentage=1/5 x 100 =20%

(d) 50% =%

Let Z has 2 units of money

- 11 units =Rs. 330
1 unit =Rs. 30

6 units = Rs. 30 x6 = RP18
Hence, X has Rs. 180.

(c) Required percenta =25
=20% \ 4
Alternate:
x

ercentage=1/5%100 = 20%
lary of Tulsiram =Rs. 720/4 = 100
=Rs. 18000

Salary of Kashyap =18000 x 100/120
=Rs. 15000

www.jkchrome.com

According to the question, K 87

X 3 ¥ : '

6 3 A :l E/Sl
B : C = oM . 4

0 + 25) %100
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84. (a) Letthe third number=100
Ist. goet, i
?UE 100
Required percentage =7/10 x100 =10%
85. (d} Required percentage
=25/ (100 + 25) =100
=25/125 % 100 = 20%
Alternate: 25% =X
Mita
Reguir =1/5 = 100
86. {c} Requifed pefeentage
=25/(100 - 00 =1/3x%100

+1
Required % =1/3 x 100 =100/3%

(b} 40% = 2/5 , 25% =%

m

A:B:C=30 1 2 20

Bt

Required% =10/10 =100 =100%
(b) Required percentage

=50 /(100 - 50) x 100

=400%

Alternate: 50% =)k

A : B

1 ; 2

u

+1
Required% =1/1 % 100 =100%

88.
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89.

90.

91.

92.

93.

94.

95.
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{a) Required percentage 96.
=25/ {100 +25) x 100
=20%

Alternate:

29% =1f4 97.
A : B

3 : 4

A S, o

-1
Required percentage =1/5x 100
=20%
(a) 60%  =3/5, 20% =1/5

A : B =18:51
B : C 4‘4
0 25

A:rB: €=321: &

99.

A:C=32:2
(a) Percentage of failed students
={100 - 93)%

According to the question,
oRg ()

1% — 37

100% — 3700

Total students — 3700

Total students = 3700
(b} Required percentage =22/24 x10
=275/3 %

°* 101.

30A =40B
Required
=75%
(d) L d fumber =100

é 3,
100

Required percentage = 20/80 = 100 =25%
{a) Letthe number=x

= 1/3xx =96 103.

— x = 288
—» Required answer=67/100 = 288
=1592.96
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=(Bx 3)/4B =100 102.
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(b} According to the question,
®xaf100 =y = h/100

xa=yb > b=xaly

Putvalue of b in given equation

2% ofb=2%ofxafy =2xfy% ofa
{a) 1 hour =60 min.

1min+12 sec.=1+12/60 =6/5min
According to the question,

60 x yx/100 = 6y/5 =2

(c}) Matcheswonbytea
=24

Required percenta 40 %100

Accordingto t estion,
Ca 20/W00 a—60/100b =3
3 " R L]
80b/100 —90a/100 =6

8b=P9a =60

om equation=
a+b) =(60+75) =135
{c) Letthe numbers=x
According to the questions
®x—15 =80x%/100
¥—15 =4u/5
2x—73 =4x
¥ =75
Required answer =75 x 40/100 =30
(c) Letthe number=x
According to the question,
x—(117x/100) = 498
100 —17% =49800
83x =49300
¥ =49800/83 =600
(d} LetC =100 units

Arcording to the question,
A - B
150 ; 125
Ratio of numbers —s 6 : 3

N A

Required percentatge =1/5% 100 = 20%

(d) Letx to be added,
According to the question,

160 x15/100 + x = 240 = 25/100
¥ =36

Hence requried number=36
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105.

106.

107.

108.

1009.

110.
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{b) Letthe number=x 111.

%% 90/100 =30
= ¥ =100/3
Hence required number=100/3

112.

{a) Accordingto the guestion,

15/100x =20/100y

—15x =20y

x/y =20/15 =4/3

iy =4:3

(b) Marksobtained by D= 320

Marks obtained by C = 320 x125/100 =400
Marks obtained by B = 400 = (100 - 10)/100 =

Marks obtained by A =360 = 125/100 =450
Hence, requried marks obtained by A = 450
(c) 45/2% =45/200 =9/40

Initial Final

40 49

L]

[80] [98]
Hence required number= 80
c) 75% =3%

Letthe number=4x
According to the guestion,
dxx K475 =4x
According to the question,
dxxB+75 =4x

x=75
Number=75=4 =300
Required answer= 30044 =12
Alternate: 75% =3
3+1 >4
15%_ 10 P
units — 117.
4 units ]

40%
10/100 =230 =30/100
69

Hence, required number=37
(a) 20% =1/5 =4/5

X = Y
4 ¥ 3
LetX =4a
Y =25a

Hence, (y—x)/y =(5a —4a)/5a =a/5a =1/5
w/(x-y) =4af(4a—5a) =4a/-a =-4
Hence required answer=(1/5, - 4)
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113.

116.

118.
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{a) Required number of literate people
= 6600 * 30/100
=1980

(b) Required answer
=50/(100 + 50) x 100 =100/3%
Alternate: 50% =}

A B
-¥

Required answer= 00 “=100/3%
(a) Accordingto stion,

S5A/100+4 GA/100 +8b/100]
54 +4B =@/3 ( + BB)

154 + 4B A+ 3B)

=x7 (100 + x) x 100%
L 100x/(100 + %)%

{d) Letthe numberis =

According to the question,

1/5 or¥ ofx = 20

1/5%1x/2 =20

X =200

Thus, 20% of 200 =20/100 =200 =40

{b) According to the question,
= 90 % 250/3% =x = 60%
- 90 % 250/3% = x x60%
—x =Rs. 125

(b) xx51/100 =714
¥ = 1400
Thus, 25% ofx =1400 = 25/100 = 350

20% 1/5 (1 = Increase in price, 5= Initial Price)
Initial Price Final Price

N

Hence, Required reduction = [1/6x 100)
=50/3%
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119. (b) Required answer

=20/{100 + 20) x 100 =50/3%

Alternate:
Intial Price Final Price
5 i

Required answer=1/6 x 10 =50/3%
{a) Requiredanswer
=10 /{100 +10) »100 =100/11%

120.

121.  (d) Required %
= 10/{100 -10) x 100
=10/90 = 100
=100/9 %
Alteranate:

Intial Price

5 9

N s A

Required % =1/6 = 100 =100/9%
{a) Required %
=25/(100 + 25) x 100 = 20%

122.

123.
% % and later decreased by x %, then netchan
always a decrease whichis equal to x* /10
Hence, Required change in salary =(20)¢
4% Decrease

124. (¢} Insuch type of questionto

125.

Hence % reduction in Revenue=1%
% = Reduction=x* /100 = (10)%/100

1%
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Final Price
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126.

127.

{a) Note: Ifthe value of a numberis first increas

128.

www.jkchrome.com

129.

www.jkchrome.com

{b) 10% =1/10

Initial Price Final Price
10 11
<) <)
10 11
100 121

o g 2%

% Reduction= 21,121 » 100

=2100/121 =17.36%
(a) 25% =1/4, 20% =1/5
Initial Price B Price

=2/20 x100 =10%

e : By using below given formula,
eteffet=x y+ xy/100

Change =-25 + 20 — (25 = 20),/100
Change =-10%

Mote : Negative sign shows decrement.
Hence, Required decrement =10%

{d) % decrease=x*/100 ={10)%/100
Alternate:

=1%

Initial Price : Final Price
10 11
). ).
10 9
100 99

ag W

% Decrease =1/100 =100 =1%
(b) 20% =1/5=4/5 (4 =Final, 5 =Initial)

Initial wages Final wages
5 4

+1
Required percentage
=1/4 =100 =25%
Alternate:
Required answer = 20/(100 - 20) = 100
=20/80 % 100 -25%
MNate: By using formula, [r/{100-r) = 100]
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130. (b) Required answer=
10/{100 - 10) x 100

=100/9 %
131.  (a) 20% =1/5
Initial Price 3 Final Price
3 G
) )
a 5]
25 36

-11

Required percentage of reduction
=1/36 = 100
= 375/9%
132. (d) 25% =1/4 =5/4 (5 =Final Employees, 4 =
Employees)
25% =1/4 =({3=Finalwages, 4 = Initial wages)

Initial C Final

4 ) 5 )
4 3

16 15

S S

Required reduction=1/16 x 100 =
133.  (d) r% =r/100

Initial Price Final
100 (100 + P
100 {100 -r}
10000 (100 #r) (100

According to the question ¢

134.

Final Price

Intial Price
4 5

=3

Required percentage reduction
=1/5x100 =20%

www.jkchrome.com
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135. (b} Letthe originial number
According to the question
%% 90/110 % 110/100 = (x - 50)
%% 99/100 =x—50
99x =100x — 5000

¥=5000
Hence original number =5000
Alternate:
Original number=5000
Original Mew

10 O
10 11

100 )

-1
According to th
1 unit =50
100 unit =350 = 3000
136. ()L initigh expenditure = 100 units

®10( !

10/30 =1/9 =10/9 (10 =NewPrice ,
9 = Original Price)
Reduced Price =837/10 = 6.2 =837/62

_ =Rs. 13.50 kg
137. (¢} 20% =1/5
Initial Final
3 6
Consumption X B -1 X3
Expenditure 30 30
Required Rate=1:6
Alternate:

Let Initial expenditure =Rs. 1000

Requiredratio=20:120 =1:6
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140.

141.

142.
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{b) Byusing formula, 143.
bodecrease=x?/ 100
¥ =20%
% decrease = (20 x 20) / 100 = 4% Decrease
(b} Required reduction in consumption
=15/(100 + 15) x 100 =15/115 x 100
=300/23%
Alternate:
Initial Final
20 23
\-3‘// 144.

% Reduction= 3/ 23 x 100
=300/23%

(b} Required reductionin price

=20/{100 +20) x100 =20/120 x 100

=50/3 %
Alternate :
20% =1/5
Initial Final
D ]

\_-1// 14

% Reduction=1/6 x100 =50/3%
{c) Required answer=10 + 20 + (10 = 20)/100

=10+20+2 =32% K
0: 147.

Alternate: 10% =1/10, 20% =1/5

Initial Final
10 11
511
50 66 ¢

W

Required percentage increase
=16/50 x 100 =32%
{c} Decrease inarea
Alternate:
Initial
10

4
% =(T0)2/100 =19

10 95 148.

% decreasein are=1/100 =100 =1%
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(b} Required percentage
=20 /(100 - 20) x 100 = 25%

Alternate :

20% =1/5
iy * B
3 . 4

\j/
Required% =1/4 x 100 =25

(c) 10% = 1/10

Initial Final

10 9

10

100 99

-1
Requir dugsion = 1/100 = 100
=1%
t Reduction = »2,/100
0)° /00 =1%

(b] change = R/ (100 + R} = 100%
quired answer=50/(50+100) =1/3

{d} % change =

R/ (100 + R)x 100%

Required answer=40/(100 - 40) = 100

=40/60% 100 = 200/3%

(b) % chanage = R/(100 + R) x 100%
Required percentage = 25/(100 + 25) = 100

Alternate: 25% =1/4,

Initial Final

4 5
\__}/
% Reduction=1/5x 100 =20%

(b) 25% =1/4, 30% = 3/10

Initial Final
Price—= 11
(; )-
Sale - 10 9
100 99
Gl

% decrease =1/40 = 100
=5/2% decrease
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149. (b) Lettheinitial expenditure 152. (d) Letthe orginal price =100 units
=100 units
; ﬁ +10%
+ 20 - 20%

o + 20%

Incerease in comsumption=20/80 =1/4

=5/4 (5 =New, 4 = Original) e
Original Price =36 x 1000/(4 =500)
= 500gm =3500/1000 kg Accordingto the que @
Original Price =Rs. 18/kg. 132 units =Rs.
150. (c} By using formula 1 unit =Rs. 338132
[Netdecrease =x*/100%] 100 units =Rs. x100 =29
x =25% Henc 33@32 ¥ 100 =25
MNetdecrease =(25) /1000 =625/100 =6.25% Alter
Alternate:25% =1/4 I Final
Initial  Final 0 1
4 3 3
45 50 66
16 15
\l—____...-’/ xt x12
S decrease=1/16 =100 =100/16 =6. [25]33
151.  (c) Requried %increase 153. (b} Total % increase
=10 +10 + (10 +10)/100 =21% =20 +20 + (20 x20) /100 =44%
Alternate:10% =1/10 ARternate: = 20% =1/5
Initial Final o Initial Final
10 11 5 5
16 13 56
100 121 & -

4
T~z e A
Required % increase =1/25 x 100 =44%
Required % incredse /100 x 100 =21%
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155.

156.

35 www.jkchrome.com www.jkchrome.com

{a) Letthe initial expenditure = 100 units 157.
@ Initial
+20 % - 20%
Increase in consumption =20/80 =1/4
1 unit =5 kg.
Original consumption =5x4 =20 kg.
Mew consumption =5x5 =25 kg
Original price = 320/20 =Rs. 16/kg.
Altlernate: 158.

Saved money due toreductionin price
=320 = 20/100 =Rs. 64

MNew price/ kg. (80% = 64/3)

Old Price/kg [10%) =Rs. 16/kg.

{a) Letintial expenditure =100 units

+25 -

OF
Q
2

¢

Ratio of increase in original co
=25:75 =1:3
MNew consumption

Reduced price perkg
Alternate:
Due toreducti
=240 x 25 / 5. 60 161.
MNew pric i Y =602 =Rs. 3D
(b) /4 ="3/4 (3 =Final, 4 = Initial)
3 =13/10 (13 =Final, 10 = Initial)
Final

(ﬂ- 3 )

10 13
40 39

w

Required % decrease =1/40 x 100
=5/2%

www.jkchrome.com www.jkchrome.com

www.jkchrome.com

{a) Costof the article =Rs. 75
Metdecrease in price

=20—20 —(20 x 20)/100 =4% decrease
Hence presentprice =75 = (100 - 4)/100
=72 Rs.

Alternate:
20% =1/5
Initial Final
3 G
3 4
2324
x 3 ¢
73

Hence present

(b)

Initial nal

/7.5 =100 = 20%

b) Required % ofreduction
=60/160 %100 =37.5%

(a) Price= 20% =1/5
Sale= 80% =4/5
Initial Final
Price — 5 4
(; )
Sale —» 5 95
Revenue = 25 36
+11

Requiredincrease insale =11/25 =100
=44 %
Alternate : Use successive method:
%A= -20 +80 - (20 = 80)/100 =44%
{d) Price=-25% =%

Sale =20% =1/5

Sale= BO% =4/5

Initial Final
Price —= <4 3>
o b
Sale —& 3 &
Revenue = 20 18

-2
Required% decrease =2/20 x 100 =10%
Alternate : Use successive Method:
%A =-25+20— (25 %20)/100 =-10%
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162. (b)) % Increase =10 + 10 + (10 = 10) / 100 165. (b} Increase in height=15% = 3/20
=21% Decrease inbaseradius =10% =1/10
Totalincrease =100 =21 /100 =Rs. 21 Initial Final

163. (b} Letintial expenditure =100 Units Radius - 10 3

Height > 20 23
Revenue =& 20 18

T

+10% -10%
Required % increase inarea= %100
=3.5%
° 166. (b} Netdecrease =x2/10 =1%
167. [d) Required% =25/ 100
Required increment = 20%
=10/90 =1/9 =10/9 (10 =Final, 9 = Initial) Alternate :=25
lunit =1kg
Original consumption= 9x1 =9 kg Initi
Presentconsumption =({9+1) =1 =10 kg 100
Required original price = 270/9 =Rs. 30/kg
Alternate = Due to reduction, he will save
=270 % 10/100 =Rs. 27 Reduction
Mew price of rice/ kg. =27/1 =Rs. 27 =« 100 =20%
New Price (90%) = 27 quired % reduction =20 /(100 + 20) x 100
Old Price (100%) =Rs. 30/kg 50 /3%
164. |a) Letinitial expenditure = 100 units K Rl P
20% =15
Initial Final
(2 S
0 W
+10% -10%
Required % reduction=1/6 = 100
e * =50/2 %
169. (b} Required % decrement
=x*/100%
O = (25)3/100 =25/4%
Requiredincrem =1/9 A!‘F:?mate: i
: Initial Final
1 unit=10a4a 5 6
original cons 1 3
16 15
-1
Required% decrease =1/16 x100 =25/4
= 25/4%

=Rs. 6.48/ dozen
Alternate:
Due to reduction, he will save

=54 %10 /100 =Rs. 0.54
Mew price fapple =5.4/10 =Rs. 0.54
Mew price / dozen =12 % 0.54
=Rs. 6.48 dozen
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170. (c) 20 % =1/5, 30% =3/10 174.
Initial Final
3 o
10 3
16 15
# * 8 ¢ = 8
[400] 416
Hence required price = Rs. 400
171, (c) 10% =1/10 =(11 = Final, 10 = Initial )
Initial Final
11 11
10 11
10 11
1000 1331
W 175.
Required % increament =331/1000 =100
=33.1%
172. |(d) Letthe number=x
According to the gquestion,
%*%120/100 — X = 75/100 = 336
120x 75x = 3600
45x% = 3600
»=3600/45 =80
Hence, required number=80
173. (c) 20% =1/5 176.
Original Mew
s 4
5 6 L 2
23 24

According to the
1 unit=20
25 units =

Hence, umber =500

177.

178.
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{d) Letthe initial expenditure =100
Increase in consumption
=21 /(100 -21) =21/79
Initial consumption =739
MNew consumtion =(79+ 21} =100
According to the question,
21 units = 3kg
1unit =3/21 kg =1/7 kg
Required reduced price =100/ (100 =1/7)
= Rs. 7/kg.
Alternate:
Due to reductionin price d ey
=100 = 21 /100
=21
smoney =3 kg
=Rs. 7 kg.

(b) We w that
—= To eﬁrea of a cube
e is doubled
1 = 2
T1.5.8 = 1 4 o Mew TSA
"'-..,_|___,_,..-'P
2 — Increase

Thus, Surface are of cube will increase(3/1 = 100%
- 300%
{d} The production of cycles rose to 48400 from
years
— Presnetproduction =40000
- Aftertwoyears =48000
— Time = 2 Years
—» Rate of increasement=7
According to the question,
Production after2 years
—» PresentProduction {1 +R/100)
- 48400 =40000 (1+ R/100)*
—» 484/400 = (1 + R/100)°
= 1+R/100 =22/20
- R/100 =1/10
=R =10%
— Rate of increasement=10%
(b} Shortcut method
= 20% -20% - (20 20)/100
-4
= 4%
{a) Quicker gpproach
Increasein & =a+ b+ab/100

Here, a =b =5%
Increase inA =(5+5+5x5/100)%
=10.25%
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(d) Here, Leta=- 20% 183. (¢} failed condidatesin English
b =-10% = (100 -70) =30%
Total reduction of the price = (a +b + ab/100)% = ({100 -70) = 30%
=-20—10 +[(-20){-10)/100]% =-28% Failed candidates in Mathematics

= {100 — 80) =20%

(c) Passed boysss=60%
= (100 - 80) = 20%

Failedboys =(10-60)% =40%

Failedgirls =(100 50}% =50%

Failed boys = 1000 x 40/100

=400

Failed girls =800 x50/100 =400
Required % failed Candidates

=(400 +400)/{1000 + 800)= 100 =800/ 1800 =1
=44.4%

(c} According tothe question

Pass marks = (220 + 20} =240

A40% —» 240

Thus, Maximum marks (100%)

=240/40 =100 =600

(c) Percentage of studnents passed in Hindi

60%

Percentage of studnents passed in sanskrit = 45%
Percentage of students passed in both subjects =

diagram of failed students

Percnetage of passed studnets in both subject.
stubject =100 —(20 +10 + 10} =60%
According to the question,

80% of studnets =144
Total of students =144/60x 100 =240

184. (c} Mote:Insuch type of questionsassume the v

of ratio as per your need or which make your

calculation easier, but the ratio of values shold nof
changed.

Letnumberofboys =300

Numberof girls =200

Hindi Sakskrit Boys Girls
[Vennadiagram of udiféts Ratio of Boysand Girls — 300 : 200
Percentage of failad st
=100 — (35 +25 %20 i
=100-80 =

Notadults — 240 150

e

Required % = 390/ (300 + 200) = 100
=78%
185. (d) Letthe numberofboys= 400
Letthe number of girls =100
Total number of studnentwho do not get scholars
=400 = 25/100 + 100 = 30/100
=100+ 30 =130
Required percentage =130/500 =100 = 26%
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(c) Letthe total marksx =x
According to the question
®x 337100 = % x«25/100 +40
1/100 [33x— 25x] =40
= Bx =40 x 100
—x=7500
Alternate :
Pass percentage =33%
Marks obtained =25%
Required marks to be pass= (33 - 25)
= 8%
According to the question,
8% oftotal marks =40
Total marks (100%) =40/8 x100 =500

(c) The number of candidates failed in English = (1

70)% = 30%
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188. (d) Let the maximum marks = x
According to the question,
Case (i)Pass marks = 20x/100 + 30
Case (ii) Pass marks = 32%/100 —42
Mote: Pass marks would be same in both ceses.
20%/100 + 30 = 32x/100 —42

The number of candidates failed in Mathematics

= (100 - 80)% =20%

20% 10%

10%

English Mathematics

Venndiagram of failed students

¢

Perncentage of passed stude
[100— (20 +10 + 10)]% =60%
According to the gquestion
60% of studnents =
Total students=

\ 4
=140
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12x/100 =72
¥ =600
Pass marks = 600 = 20/100 + 30
Required percentage =150 =25%
Alternate:
Mote: In such type of g c to'save your
valuable time follow =n Below method.
diff. 20% = -30

= 42

0)= 12% (42 +30) =72

F above figure, 12% =72 marks
1% =6marks

ercentage of pass marks =20% +30/6%

= 25%

Hence, required percentage of pass marks

= 25%

189. (d) The number of failure boys

=ad0x 40/100 =256

The number of failure gilrs

=360 = 20/100 =72

iinfaeth subjects- percentage of failure students

=(72 +256)/(640 +360)x 100 = 32.8%
190. (c) Failed studentsin mathematics = 34%
failed studentsin English =42%

Mathematics English

Venn diagram of failed students

Perncentage of passed studnets in both
subjects=[100—(14 + 20 +22}] =44%
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(b) Letthe maximummarks =x
According to the guestion,
Case (i) Pass marks =36x/100+6
Case (i) Pass marks=40x/100 -6
Mote : Passmarks would be equal in both cases.
30x/100 +6 =40x/100 -6
40%/100 +6 = 30x /100 —12
10x =1200 — x =120
Mote: To saveyourvaluable time try follow the
given below approach.

Percentage farks

30% = -6
40% = +6

10% = 12

According to the question,
10% of total marks =12 marks

Total marks =12/10x100 =120
(a) Letthe marks obtained by first student =32

then marks obtained by second student ={a+9)
According to the question,
a+9=>56/100 (a+a+9)

100a + 900 =112a +504

123 =396

a=233

Marks of first student =33

Marks of second student =33+9 =42
Alternate : In such type of questions to save Yeur
valuable time take help from options.

Options {a) Marks of studnents be 42,

Case (i} : Difference=44+ ?

Case(ii) : 42 =(33+42) = 0

442 =75 x 56/100
42=43

Option (a) satisfiesb
Hence option (a) jseor

h& conBitions of the equ

195.

196.
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193.

194.
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(c) Students failedin Hindi =52%
Students failed inEnglish =42%

Students failed in both subjects =17%
English

Hindi

Venndiagramo

Total % of passe

=10 +17 +25)
=10 2
ed percentage =23%

ntsin both subjects

ntswho cannot speak English = (100 -70

100 - 65) = 35%

English Hindi

Venn diagram of failed students

Perncentage of studentswho can speak both the

languages

=[100 - {3+ 27 + 8)]%

=(100 —38)%

=62 %

(b} Percentage of failed students =25%

Thus, Percentage of passed students= (100- 25) *
=75%

According to the question,

totalstudents =450/75 x100 =600

{d} Percentage of students playing both

= (50 +40 +18) -100 =8%
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(b) 20% =1/5 =6/5 (6 =Gilrs ,5 =Boys) 201.  (a) students passed in mathematics = 65%
Boys : Girls Students passed inphysics =48%
5 : ] Students passed in both subjects =30%

Accordiing to the question,
{5+ 6) units =66

11 units = Bb

1 units =bx3 =30

Girls =6x6 =36

The number of girls when 4 is admitted
=(36+4) =40

Requiredratio= 30: 40 = 3 ; 4
(a) Passedstudentsinfirstyear
=100 =x75/100 =75

Venn diagram

Passed studentsinsecondyear = 75 x 60100 =4

Total passed students

=75 x45 =120 Percentage of falled stlidents in both subjects =11
Required percentage (35+30 +18)

=120/{100 +75) =100 =120/175 x100 =10 ¢

=480/7% =1
(d} Passmarks 202.

=200 +10 =210 age of students took Biology = 72%
Required maximum marks ntage of students took Mathematics =44%
=210/35 x 100 =600 rcentage of studentstook both subjects =(72
(a) Letthe maximum marks=x ~100
According to the question, —16%

Case (i} Minimum pass marks

According to the question,
=x%30/100 +5 =30x/100 +5 Total number of studnents = 40/16 x 100
(i) Minimum pass marks — 950
=x = 40/100 — 10 < '

=40%,/100 —10

Mote: Pass marks will be eqya
30%/100 +5 =400%/100 —1EI
=40%/100 - 30x/100 =15

“%

10%/100 =15
—x =150
Hence maximum
Passmarks=150 +5 =50
Alternate:
Marks
-5

A0% 10
10% 15

Minimum pass marks =15/10 x30+5 =50
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(d) Candidatesfailed ini English 205.

=(100 - 60)% =40%
Candidatesfailed in Mathematics
=(100 - 70)% =30%

English Mathematics

Venn diagram of failed students

Students passed in both subjects

=100 - (20 +20 +10) =50% 206.

50% ofstudents = 2500
Total students = 2500 /50 »100
=5000

{a) Letthe maximum marks=x
According to the question,

Case (i) Passmarks= 3x/100 +25 .. K
Case (ii) Pass marks

=40x/100 —25/100 (30x/100+25) ..

Mote: Pass marks will be equal in each O

30%/100 + 25 —40:{_."1[}0—3::{’ 0 /-
25= 10x /100 —30x/400 425
25% +25/4 =40x% /400 -30x 0
125/4 =10%/400 - x=1250
Maximum passmarks ¢
=1250 % 30/100 + 25

=375 +25 =40
Alternate:
Mote Insu

uestion to save your valuabl

imum pass marks =400
rks = (400 - 25)/30 = 100

According to the question,
Required maximum pass marks
=1250 = 40/100 —400 = 25/100
=500 —100 =400
Hence, the required answerissame as in option |
Hence Option (a) is correct.
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(b)

Buffalo

Cow

do nothave a cow or a bu

=100 — (45+1 =25%
Accordi thE‘UEStiDH
Requi ber =96/100 x25 =24

{ r e of students passedin English = 80%
rce e of students passed in Mathematics =8

English Mathematics

10%

Venn diagram of failed students

Percentage of failed studnetsin both subjects
=100 —(5+75 +10) =10%
Total number of students =45/10 = 100 =450

www.jkchrome.com



43 www.jkchrome.com www.jkchrome.com www.jkchrome.com

207. (a) Candidates failed in Mathematics = 35% 211. (¢} Percentaage of passed students in both subjec
Candidates failed in English = 25% = (90 + 85) — 100
English Mathematics =Tk

According to the question,
Total number of students =150/ 75 = 100
=200
212. (¢} 405 =2/5, 75% =3/4
Lettotal number of students =20

Venn diagram of failed students

Remaining
Hence, percentage of passed candidates in both Su
100 —(25 +10 +15) =50%
208. (a) Maximummarks
=(125 + 40)/33x 100
=165/33 x100 =500
209. (b) Maximummarks=(113 + 85)/36 =100
=198/36 x 100 =550 Phaugs
210. (b} Total marks= {300 + 200} x (46/100) =230
Markes obtained by the studentsin science
=300 = 32/100 = 96 According to the question,
Required marks in Language Papers 3 unpits =172

=(230-96) =134 lunit =12/3 =4
Reguired % =134/200 =100 20 units = 4 x 20 = 80

Mow remaining students = 20— (9+ 8)

=67% Hence totalnumber of students =80
Alternate: Use alligation méth 213. (a)
Mote: Insuchtype of questions assume dataas pe
5 L your need but rememberthe ratio mention in que
329, ® N should not
be change.
Boys © Girls To
Ratio of number @ 200 300 + 50
—
+75% + 70%
Mot holding I
14% Scholarship 150 210 + :

Required% =360/500 =100 =72%
3wy : 27

¥—46 =21
¥ =687%

www.jkchrome.com www.jkchrome.com www.jkchrome.com



44 www.jkchrome.com www.jkchrome.com www.jkchrome.com

214.  (a3) 10% =1/10 217. (d) According to the question,
Ankita Eakta Letjthe total nanher of students=100
9 10 Ratio of Boy/Girls= 3/2
S unfts e 100
1 unis i 20
x3 x9 3 UNMS womsesesssnnses 20 %3 = 60
2UNitS cviieene. 20 2 = 40
B1 [90]
Hence, Marks obtained by Eakta =90 Boys Girls
215. (d) Studentsfailed in mathematics = 19% 60 40
Students failedin Englishl =10%
hathematics English Fil
Appeared exa + 28
12% .
Students notaop inexam
3% =100 = 54
Thus, ofstudents appearedinexam/ Notapg
23/27
ccording to the question,
rstsubject = 60%
Venn diagram of failed students cond subject =20%
Aggregate in all subject=70%
Sum of all those subject=3x 70
=210
Students passed in both subjects Thus, First + Second + Third = 210
=100 -{12 +7 +3) =78% 60 + 80 + Third =210

216. (a) Studentsgets190 marks a ks Third=210 —140 =70

total marks needtopass = 80

Thus, 36 % Marks are passm

= 36% =225

—100% =225/36 %100 'S
— 100% =625

— Total marks

fai
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219. (d) 20% =1/5, 30% =3/10 220.

10% =1/10
Lettotal income =100 units

o
Total Income

- 20% (Older son)

Q

- 30% (young son)

56 221.

-10% (trust)

According to the question,

S04 units =Rs. 10080

1 units = 1080/50.4 =Rs. 200
100 units =200 = 100 =Rs. 20000
Hence, Required income = Rs;

3
O

Alternate: ¢
Initial X in
5 ’ 4
16 7
10 g9
500 3 252
=40
[20000] [10080]

Hence, require income = Rs. 20000

www.jkchrome.com www.jkchrome.com

www.jkchrome.com

(b)

Expenses
Food —* 40%
House Rent * 20%

Entertainment —* 10%

Conveyance 10%

Total expenditure =80%
Saving =100% - B0%ggs
20% — 1500

1% - 1500/

=Rs. 7500

(b} Accordingto stion,

30% 33%

Bank Remainir

S
. v

Post Office Share He

Hence, required number of share holders =570
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222.  (d) Letinitial salary =100 units 224. (a) 60% =3/5, 25% =1/4
20% =1/5
Tntal salary Letthe total trees in the graden =100
@ Total trees
a5
@ &6 Coconuttrees
food charitable trust

According to the question,

1/4

{30+ 3)units =Rs. 2310

33 units =Rs. 2310 Gﬁ) Mango t@
1/5

1 unit =Rs. 2310/33
100 units =2310/33 =100
Total salary = Rs. 7000

223. (d} Letthe total amount =x
According to the questions,
¥ B0/100 » 95/100 = (120 + 1400) ing tothe question,
®x4/5 % 19/20 =1520 i
¥ =1520 =100/76 = 2000
Total amount = 2000

units =1440/3 =480

Amountspentontransport Total trees=100 units =480 =100
= 2000 = 80/100 = 5/100 =Rs. 80 = 48000

Alternate:

Mote : In such type of questions try to follow

given below method to save your valua (3

20%=1/5, 5% =1/20 (19 =Final, 20 Inkial)

Total amount =100 units

Remaining after

Purchasing

Transport Remaining after

Transport

According to the question,
76 units = (1400 +120) = Rs. 1520
lunits =20 x4 =Rs. 80
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225.  (d)20% =1/5, 70% =7/10

Lettotal income =100 units

- 20%

o Remaining after house rent

- T0%

o Remaining after house hold expenses

According the question,

24 units = Rs. 1800/24 =100
=Rs. 7500

Alternate: 20% =1/5

70% = (7 = Expendiutre}/ (10— Income)

Income Saving
35 4
10 3 K
S0 12 OQ

30% g

|17500]

Hence totalin
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226.

228.
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{a) Letthe income of Bhuvnesh =Rs. 100

According to the question,
Income Expenditure Saving

Initial—> 100 75 25
+20% |+10% 12,
Final > 120 B2.5 37.5

Required® Increasedin Savin
=12.5/25 x 100 =50%
Alternate:
By Alligation rule
Expenditure Savi
10

x Prrx1f{3+1) =20

x)/4 =20->30+x =80

¥ =50%

(b) Lettotal salary of Mr. x = 100 units

Education

Food

According to the question,

1 unit =Rs. 17600/40 = Rs. 440

100 units =Rs. 440 =100 =Rs. 44000
Hence, required salary =Rs. 44000

(a) xx 20/100 % 20/100 = 16000

¥ =400000

+ 40
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{d) Letthe total number of voters =100 units

Wonner Loser
4 units

votersgetby Loswer=(92 - 48) =44 units
According to the question,
(48 -44) =1100
4 units  =1100
1 units =1100/4 =275
Total votes =100 units
=100 = 275 = 27500
Alternate: Lettotalvotes=x
Votes polled =x = 92/100
Votes polled forwinner = 48% /100
Votes polled forloser
=(92x/100 —48/100)
According to the question
48x/100 - (92/100 —48x/100) =11
48x,/100 —44x/100 =1100 P
Ax=1100 =100
¥=1100 = 25 = 27500
Hence, totalnumberof

=12348
Let total number

Wali

Alternate:
Mote: Insuch type of questions try to write the sta
in one line.

Lettotal votes=x

*x75/100 = 98/100 = 9261/75 = 100

¥ =16800

Hence, required number of total votes = 16800

www.jkchrome.com

www.jkchrome.com

\

www.jkchrome.com

www.jkchrome.com

231.  (g) 25/2% =1/8, 30 =3/10

Initial Final
8 7
10 7
a0 49
B0 x B0
[4800]25340

Required salary = Rs. 2540

232. (c} let total number of votg§polied = 100 units

Actarding to the question,
units  =14000
1 units = 1400020 =700
60 units =700 <60 =42000
Hence, votes polled forwinning candidates
=42000

(b} Lettotal salary = 150 units

Remaining

Transport

Remaining salary after expenditure
=150 — (60 +30) =60 units

According to the gquestion,

60,2 units = Rs. 4500

1 units =Rs. 4500/30 =Rs. 150
Monthly Salary = 150 units = 150 x 150
=Rs. 22500
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234. (c) Letthe total numbert of votes =100 237. (b} Letthetotal numberof votes =100 units
40% 60% 40%
Loser 20% Winer
20 units = 298
1units =298/20 According to the questj
100 units = 298/20 = 100 100 units = 36000
1430 1 unit = 360 0
235. (d) Totalvotes =1044000 24 units =360 %24 =840
Total valid votes =104000 x (100 - 2)/100 Hence, Required rof votesgotby 3%,
=104000 = 98/100 =101920 condid —g&w
Votes polled in favour fo the the candidates. 238. (¢}
=101920 = 55/100 L eY8tal gimber of votes =100 units
=56056 @
236. (b) Letthe total number of votes polled =100

@ Total votes polled
K Winner e Loser

+1
79 N

(

According to the question,
14 units =42000

1 units = 3000
+2E}\ Total votes =100 units =100 = 3000 = 300000
239. Letthetotal votespolled =100 units
According to the ques *
20 units =1600 @
1 units =80
10 units =8 =8000 ! !
84% 16%
N~
According to the question,
B8 units - 476

1 units =476/68 = 100 =700
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240. (d) Letthe total numberof vaid votes = 100 uni 244.  (a) 4% =1/25

Initial Population Final Population
23 24

25 24
G20 3804 625 576

w100 w100
576010

62500

24
\_/ Hence persent population oft = 57600

245. (c) 4% =1/25

Accroding to the question, Initial Fin
14 units =7200 i
1 unit =300 5
100 units = 300 = 100 625
= 30000

241, () 5/2% =1/40 =41/40 (40 < Final, 40= int
Initial Population Final Population
40 41
40 41
40 41
64000 63921

50000 s 104/100 = 104/100

Hence, requried population = 68321 = 54080
242. (a) 10% =1/10 L:];ﬁlat:% =1/10 :F?:;LID (9 = Final, 10 = Initial)

Initial Final K
10 g Q 10 3
10 g 10 9
100 81 0 10 3

— 81 units =Rs 8100 1000 729
—1unit =Rs. 100 L 3

— 100 wunits = Rs. 10000 * 8 x 8

— Value of property 2 years ago

= Rs. 10000 P [8000] 5832
> s Alternate:

P=P {1+ RAOD)"

i Mote: Rate decreasingsouse—ve of R.
4 3years ago so use—vesing of n.
4 Presentvalue =5832 (Given)
= 2 =5832 x10/9 x10/9 x10/9 =8000
= 247. (b) Salaryin 2006 =880000/110 =100 =Rs. 800
248. (b) 20% =1/5

= 125 units =10000

=1 unit =80 Initial Final
-5 64 Units =5120 > 4
— Population at the beginningof 1** year =5120 55 :’

125 B4

B

Required percentage =61/125 =100 =48.8%
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(a) 4% =1/25

Initial Final
] or6
= 100 = 100
[62500] g7600

Population afterof 2 years = 62500
Alternate:

Let the initial population =x
According to the question,

¥ =104/100 =104/100 =67600

x = (67600 = 100 = 100)/{104 x104)
=62500

Hence, Required population =62500

{d) 5% =1/20
Initial Final
20 19
20 19
20 159
2000 6859
* 60 % G0
[480000] 411540

Hence, value before 3years =4380000

Alternate : P=P {1+ R/ 100)™

Afternyearsuse +ve sing of n.
For decreasingrate use —ve

411540 =P [1—5/100] .
= Rs. 430000

Initial
20
20

Alternate:

Use sign of R and n according to rate
and before oraftern years.
Value of machine aftertwo years

= 200000 = {100 - 5)/100 = (100 -5} /100

=Rs. 180500
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252. (b) 10% =1/10 11/10 (11 -> Final, 10 = Initial)

Initial Final

10 11

10 11
10 11

1000 1331

» G4 x G4

64000 85184
Hence, populatio after3 ye

= 85184

Alternate:
Population aftern @
PP = (1%

P' =64000 (1% 10/18p)° =85184

Alternate :
Presn uta!@n = 64000
1 st. 2
oo g40
r 6400 2xp040 o4

| population after 3 years
000 +3 = 6400 +3 = 640 + 64

285184
(B)20% = 1/5 =4/5 (4 > Final,5 = Initial)
5 4
5 4
25 16
l x 400 lx 400
64000 85184

Hence, popultion after 2 years = 6400
254. (d) 20% =1/5

Years 1974 Year 1975
Salay — 5 6
l x 610 l x 610
[3050] 3660
Hence, Required salary =Rs. 3050
Alternate:

Mote: Tosave your valuable time in such type of
guestions try to write the statementin one line.
Salary in 1974 year = 3660 /120 %100
=Rs. 3050
255. (a) Required previous salary
= 24000/ (100 +20) x100 = 24000/ 120 =100
= 20000
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(c) 10% =1/10, 20% =1/5

30% =1/10

Initial Final
10 9
5 4

10 Fi

500 252
lxIZ.E l ®1x5
52590 [3150]

Hence, value after 3 years =Rs. 3150
Alternate:

Currentvalue ofo machine

= 6250 % 90 % 100 % 80,100 = 70/100
=Rs. 3150

(d) 10% =1/10

Initial Final
10 9
10 9
100 8l
» 300 w 300
20000 40500
Hence, value of machine aftertwo years
=Rs. 40500
(a) 10% =1/10
Initial Final
10 9
10 9 ¢
10 g
1000 729
=1 w1 *
[1000] 7
Hence, worth 3years =Rs.
Alternat

{a) Required lastyear salary =1806/ (100 +5) =1

=Rs. 1720
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260. (a) 10% =1/10
According to the guestion,
(2000) (2003)
Initial Final
10 11
10 9
10 11
1000 1089
+89
Required % increment =89/ = 8.9%
Hence, strength after3ye rease by 8.9%
261. (a)4% =125 =2 Final, 25 = Inil
Initlal Fin
s
25 26
23 2
15625 Q17576
+ 32
508800 [562432]
ence, populationon1® January 2004 was 5624,
Alternate:

Required population
=500000 = (100 +4)/100 = (100 +4)/100 ={100 + 4

=562432
{b) 5% =1/20
Initial Final

20 i §

20 21
400 441

» 10 = 10

[4000] 4410

263. (b} PresentPopulation = 9261
IncreasingRate=5 %

Time =3 Years

Present population Population
3year (1 +R/100)7

9261 =P {1+ 5/100)°

9261 = 21/20 x 21/20 x 21/20
P =3000
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Letthe income in 20010 beP 267.
- R=20%
— Income of year 2012 = 2664000
= Incomeof2012 =P[1 +20/100]°
- 2664000 =P [+ 20/100]°
— 2664000 =Px6/5 x6/5
— Income in 2010 =185000
(b) 12% =3/25
Copper Totally Alloy
3 25

264.

265.

*23 x 23
69 kg [575] kg
Hence, required quantityofalloy =575 kg
{d) 10% = 1/10 (1 - Water, 10 —» Mixture)
1/5 {1 = Water, 5= Mixture)

266.

iiilk Water
Initial —» 36 : 4 )
Final —= s g
(36 +4) Units =40 liters
1 unit =1 litre
Required Quantity of water K
=5 litres
Q 268.
2
L 4

269.
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20% =1/5 (1> Impurity, 5 - Mixture),
5% =1/5
Impurity Pure glycerine

1 : 49)
1 : 1

According to the gquestion,

(1+ 4) units =50 litres
1 unit =10 litres
15 units =10 x15 =150 litres

Required qualnity of glycerine itres

Alternate:
Initial Mixture ntof glycerine
[ Glycerine dded (% conten
80% 100%

Initial mixture 1 unit —» 50 [tr.
Amount of glycerine added 3 units =+ 3 x50 =150

(b) 68% =17/25, 20% =1/5

Water Pulp
Fresh frut — 17 : 8§
Dry Fruit — 1. 4.;
Mote : the quantiny of pulpwould be same

Water Pulp
Freshfruit — 17 &—25
Dry fruit - 2 B> 10

According to the question,
25unit =110 kg
lunits =100/25 =4kg
10units =4 =10 =4kg
(d) 40% =2/5 (2-> Alcohol, 5= Mixture)
Water Alcohol
3 ! 2
Required percentage =2/(5+1) =100
= 2/6 %100
=1/3 %100 =100/3%
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{c}15% =3/10 (3 - Water, 10 = Mixture) 274.
87.5% =7/5 (7> Milk, 8-> Mixture)
Bk Water
Initial - 17 : 3
Fial — 7 x3 1.3
Mote: Milkis addedin the mixture hence guantity
of water will be same.
Milk Water
Initial = cl? 3 —» 20 uni
Fial — 21 : 3
According to the question,
20 units = 200 litres
1units = 200/20 litres =10 litres
4 units =10 x4 =40 units 275,

Hence, Required gquantity of milk
= AN litres
(b) By using Alligation Rule,

1 ]

30 % 50 %
5 .

Ratio of Quantity 2 1

15

(b) By using Alligation Rule,
I ]
15% 40%
.
10 : 15
Ratio of quantity = :

(b) 80% =4/5, =
Acid

*

adding water hence quantity
same

(12 +3) dunits = 60 litres

15 units = 60 litres

1 unit =60/15

5 units =60/15 x5 =20 litres
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(b) 30% =3/10, 70% =7/10

Sugar Other

3 3 T u3

T w7 z 3z

Mote: We are adding sugar so otherpart will be sal
Sugar Other

9 : 21

45 21

According to the question,
{3+ 21) units =75 gm

1 unit =75/60 gm
40 units =75/ 30 = m
(d) 80% =4/5,
Boricacid : Water
4 :
11:4 1::4
Mote: js d8ded hence guantity
of bor id will be same.
Water
W
. 3

cording to the question,
(4+1) units =100 ml

5 units = 100 ml

1 unit =20 ml

3 units =20 =3 =60 mi

(a) 30 % =3/10< 15% =3/20
Alcohol Water

7 : 3

Mote: Alcoholis addedin the mixture

so quantity of waterbe same.
Alcohol Water

7 : 3
+10
17 x 3

According to the question,

(7+ 3) units =1 litre =1000 ml

10 units =1000 ml

Hence, Required guantity of alcohol
=1000 mil.
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{d} By Aligation rule 281.
1% Type Il Type
20 35
X X
10 a4 282.
5 : 2

[20x5+35x2)/[5+2) =x 3 100+70 =7x
x =170 > x =170/7%

(b) Alcohol Water
Ratio of Qunatity 1 ; 4
According to the gquestion,
(1+4) units =15 litres

5  wnits = 15 litres

1 unit = 3 litres

Quantity of alcohol = 1x3 =3 litres
Quantity of water =4 x 3 =12 litres
Mew quantity of water =(12+3) 15 litres

Required% = 3/(15+3) =100
=3/18 = 100
=50/3%
(c) By Alligation rule,

1" Type Il Type

25% 50% Q

20% 0
g

10 15

2 ._‘ tio of Quantit
Hence, Required rati b
(b) 20% =1/5 ture)
Alcohol

= 4 x4 =16 litres

Water
Mew guantity of water
=(16+4) =20 litres

Required% =4/(20+4) x100 =50/3%
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{b) Massoflead ore B000 kg
— Mass of metal in lead ore
= 60 % of 8000 =4800 kg
- Mass of silver in metal
=3/4 % of 4800 =36 kg

— Massof leadinore =4800 -36 =4764 kg
(b} 300 gm

40% B0%

120 180

Sugar Q

Sugar+ other s@lutio ixture

120 +180
+ &80 + 60

=360 (Checkwith option
to save time)

ould be added 50 grams

120 +x =130 grams

grams

According to the question,

Mixture of copperand aluminium = 2000 gm
30% Copper = 30/100 = 2000 =600 gm
Copper Aluminium
600 gm 14 gm
20% =600 +
1 unit =30
30 */80%
20% x 30
2400 gm
Letthe additional aluminium
Power=x
1400 +x = 2400 gm
X = 1000 gm
Alternate: = Copper: Aluminium
3o : 70
20 B0
Copper : Aluminium
3 i 7 = 10 umits =2000 ¢
1 units =200 gm
1 : 4 —»x3

We have to equal Copper amount because
only Aluminiumis added
Copper Aluminium

3 : 7
) +5
3 : 12

We have to added5 units =5 %200 =1000 gm
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284. (c) Lettheinitial expenditure =100 units 286. i} iotthe ot capite =130
Accarairg o the guestan,

Initial
nitia S e
2

-50 + 50% o

MNew

-
Interest = [_Hlll:l:l
Decrease in consumption =50/150 =1/3

1unit =4 Eggs less Total inkerest = (9 + &0+ 13]

o " Papared percerdpss = < BOY
Original consumptions =4 x 3 =12 eggs 287. (a) Quanity ,
Mew consumption =(3 - 1) =4 2 .
R Initial = 3 ; o
Presnet price perdozen =24/8 =12 =Rs. 36 Final 1 ko
Alternate: i

Mote: Required more money when the price is edufétion = B Zaph 25 w2

increase 50% =24 x50/100 =Rs. 12

=24 %50/100 =Rs. 12

PresentPrice =Rs. 12/4 =3 Rs. feggs

Presentprice of 1 dozeneggs =3 x12 =36 Rs.
285. Lettheinitial expenditure =100

288. In such type of question you can take
peryour need put remmber ratio must

e as mentioned in question.

Rice Fish ail
Old Expenses —= 120 170 30

20% 30% 50%

-20
24 51 15

Required percentage increment

={24 + 51 +15)f(120 + 170 + 30) = 100

=90 x 320 x 100

= 225/8%

289. (b) Bus Fare : Train Fare

Decrease in consugagtion Initial = 20 30
1 unit =2 eggs v +10% v +20%
Original cons Final = 22 36
= f =3 Requiredratio =36 : 22 =18 : 11
MNew con 4] =3 x2 =10 egps
Prese feggs perdozen =24 fl10x12

Alternate? Increasingincost = 24 x 20,100
=4.8

Mew Price/ egg =4.8/2 =24

Mew Price/ dozen =2.4 x12 =Rs. 28.80
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(b} Note: Insuch type of questions to save 293.
yourvaluable time folow the
Alligation method.
Expenditure Savings
15% ¥

> 3 3

(12-x)/(15-12) =5/3
OR [15x5+3x)/(5+3) =12
- 7T5+3x =90
=21
—x=T%
Hence required increase in savings = 7%
(d) Letthe numbersare 40 and 50 respectively

A E B
10 : 50
l+ 20% l 20%

48 - 40
Requiredratio =48: 40 =6 : 5
{c) Letthe income of the man = Rs. 100
Income Expenditure  Savings

100 75 25
+20% l +15% +<. 5: l
120 B80.25 *

Required percentage inCI’EEEE\

= (33.75-25)/25 =100 %
Alternate :

Expenditure =75
Savings = (100 -
By allegation rdl

75 : 25
3 : 1
[3x15+xx1)/(3+1) =20
= 45+% =80

= x =35%
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295,
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(c) Lettheincome of the person=100 units
Income Expenditure Savings
100 75 25

+20% +10% +12.5

120 825 375
Required percentage increase
=12525 =100 =50%

(b} Populationbefore 3yearsa
ATQ
¥ =104/100 = 104/100 =1 oo

X—15625
)

stia

7576

(d) Letthe required
Accordingto th
Wrong answer,
Wrong answer
=3/5x% TS

Corre

6/25 x 100 =64%

Alternate :

Let the number=x

According to the question,

Wrong answer = 3x/5

Correctanswer=5x/3

Required % error

(5%/3—3x%/5)/(5%/3) =100 = 16x/5 = 3/5x =100
Requred % error=64%

{a) Mote: Insuch type of questions use alligation
method to save yourvaluable time.

Expenditure

10%

3 x 1

Savings
8%

Ratio of Male and Fem:

Required numberof Males
= 8000 /(1+1)x1 =4000
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(d} Mumberofboys=x

Mumberof girls = (150 - x)
According to the question,

150 xx/100 = (150 -x)

— 3% =300 - 2x

— 5% =300

<% =60

Hence, the require numberof boys =60

(b} Required price

= 19000 x (8 —7.5)%

=19000 = 0.5 /100 =Rs. 95

{d} Required apples

=+ 20/(100 -40) x 100

= 420/60 =100 =700

Hence, Required apples =700

(c) Letthe montylay salary =
According to Question
%% 8/(3 %x100) =72 = x =2700
[8/3%]
(b} AverageIncome

=Rs. B0A00/16 =Rs. 5050
Hence, required income

=Rs. 5050 = 120/100 = Rs. 6060
(d) 125/2% =5/8, 25/2% =1/8
Letthe total height of the pole - 64 bits
According to the question,

307.

30

istance coveredin 2. hr,
ce climbedin second hour.

Total height=192 m
Distance climbedin second hr.
=1/8
=192 = (8-5)/8=1/8
=192 x 3/8 x1/8 =9m
(c) NetTax rate
=30 + (30 =10)/100 =33%
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305.

306.
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{b) Total space=110

Score made by the bastman by boundries and sixes

=8=x6 +3x4 =60

Runsmade by running between the wickets

=110 —60 =50

Required% = 50/110 =100 =500/11%

(c} Letthe fraction =x/y

According to the question,

={x%120)/(yx95) =5/2

xfy =(5x95)/{2=x120 =195/4

{c} Letthe fraction =x/y

According to the question;

=[xx120)f{y = 95) =

x/y =(5%x95)/(2x1

{d} Letthe total b

Total numberofgirls =200

Mumber of boys onot getscholarship

=300 —EWIUU =240

Mum gifls who do notget scholarship
30)/100 =140

percentage =(240 +140)/(300 +200) x

48)
oys =300

ettaxrate % =x%

Income Tax Rate MNetincome
100 x% (100 -x)
100 1.19% (100 —1.19)x

According to the question,
(100-x)x99/100 = ({100 —1.19x)
9900 —99x =10000 —119x
20x =100
X =5%
Alternate:
Mote: To Save yourvaluable time you can take
help from options.
Option {a) tax rate =5%

Income Tax Rate Metincome
100 5% 895 \\
100 5+ {Sxia}flﬂﬂ = 3.95% 94.05

Required redution innetincome

=0.95/95x 100 =1%

Hence, reduction in netincome is 1% same as
mentioned in guestion. Hence Opition (c} is corre
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309. (c} Increasein population= (10458 —9800) = 638 312. (c) Letthe part investedon 5% =Rs. x
% increment=658/9800 x 100 =658/98 =47% Remaining part = Rs. (10000 - x)
Use alligation method: According to the gquestion,
Male Female ¥ % 5/100 —[[1000 -x) x6]/100 =76.50
B% 5% S5x/100 — 600 + 6x/100 =76.50

11x/100 =76.50 +600

47/7% 11x%/100 = 676.50
=% =67650/11

Amountinvestedon 8% = (10000 - 6150) =Rs. 38

Alternate:
Insuch type of questions to our valuable
Mote: Tomake your calculation easier multiple by time go through options
toall data. Option (c) amountsp 3850
iale Female Interest=3840 = 6/1 231
56% 35% Amountspend > -3850) = 6150
Interset= 6150 %5 /1 = 307.50
Difference ininte (307.50 - 231) =76.50
Mow o ) sagisfy both the conditions.
Henc ) is correct.

313.

5 =3/5 (3 =2 Final, 5 = Intial)

Final
12 - 9 & Ratio ofmale and fe

4 : 3

Hence, required population of male
= 9800 /(4 + 3) % 4 = 5600

K Required decrease inarea= 16/25 =100
310. (c) 20% =1/5 — 64%
xy? 7 xxyxy Alternate: By using successive formula,
Initial Value Final Value < '

Metdecrease inarea

x> 5 4 = 40 +40 — (40 x40)/100 = 64%

y=> 3 4 ¢ 314. (b) Salaryof shyam = 1540/22 x 100 =Rs. 7000

¥y 5 4 According to the question,

Xy =125 i Salary of Ram = Salary of Shyam

V'S Hence, Salary of Ram = Rs. 7000

Savings of Ram = 7000 = 14/100

Required% = 61 G1x 4/5 =244/5 _Rs. 980

Aequired =244 315. (a) Letthenumberofboys =

311.  (d) 300
A E' Letthe number of girls =200
5cm * Boys Girls

A nt of 6% new length of AC Total students 300 200

=3+ }/100 =3.18 cm

Required % decrease = 0.18/2 =100 =3% BO0% 75%
Mot holdes 240 150

Scholarshiop

Total students who do not get scholarship
=(240 +150) = 100 =78%
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{d) Letthe firstand second numberis a and b resp 320.

b—60a/100 =52b/100
b—52b/100 =60a/100
48bf100 =60a/100
4h=5a
a/b =4/5
S d@:h=a8:5
(a) Marksobtained by A
=360 marks
marks obtained by C = 360 /125 =100
= 28 marks
Marks obtainedyb D =288/380 = 100
Required % marks obtained by D
=360/500 =100 =72%
Boys Girls
1100 S00

50% B0%

321.

550 5410 —» Failed Candidates
Total failed candidates= (550 +540) =1090
Reguired percentage of failed candidates

=1090/ (1100 + 900} x 100
Q& 322.

60% =3/5, 75% =3/4
Let the total numbers of workers = 200

= (1080 % 100)/2000 =54.5%
323.

30% above [30 ¥ea

324,

1% =18
Workers above 30 years (100%)

— 1800
Given,
Workers above 30 years (60% — 1800)
1% — 30%
100% —» 3000
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(a) By alligation Rule,

2 : 3 «— Ratio ofgirl an
Required Perce f gilrs
=2/ (3 4 100, = 40%
(b} T¢ s =10000
(10000 - 100) =9300
g to the gquestion,

revenue
= 9900 x 20/100 x 10 + 9900 = 80/100 x 20

=79300 » 2+ 9900 = 16

=9900 (2 + 16)

=178200

{c) Percentage of Non-tax paying employing
=(100—31)% =6%%

69% of total employees = 20,700

Total employees =20700/69 =100 = 30000

(c} Basic pay =1925/(100 +165) x 100
=11925/265 = 100
=Rs. 4500

{a) Letthe salary =100 units

savings = 20%

Savings =100 = 20/100 =20 units

Expenditure =({100 - 20) =80 units

According to the question,

80 units =Rs. 6000

1 units =Rs. 75

Savings=75 = 20

= Rs. 1500

(b) Population of town = 311250 » 43

=311250

Number of women in town = 311250/[43+ 40)x 43
=161250

Number of literate women = 161250 = 24/100 = 3870
Number of men in the town = 311250/(43 + 40) » 40 -
Number of literate men in town = 150000 = (100 — 10/
= 150000 x 90/100 = 135000

Total literate person in town = (38700 + 135000) =17
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326. (c} Total numberof employees

= 27600/(100 -31) x 100 = 27600/69 x 100
= 40000

(b) Mo. of females=25000 x 1/5
=5000

Mo. of Males = 25000 — 5000

=20000

Mo. of educated females =5000 = 60,100
= 3000

Mo. of educated males= 20000 x95/100
=13000

Total educated population = 22000
Percentage of educated population

= 22000,/25000 =100 = 88%

327.

328.
Red Black
a0 a0

Blue
Total balls = 100

{c)

25% 50%
Takenout - 25 25
Remaining balls = (100 +50 + 50} —50
=150
Required percentage of balck balls
=50 /150 = 100 =100/3%

(b} Prince after discount= (180 = 80)/100 K
=Rs. 144
Price of 1 pair of socks

=Rs. 144/12 =Rs. 12 0

Required number of pairs
=48/12 =4 pairs L 2
(b) Bag Shoe

7 H 5

329.

330.

*

Accroding to the
2 units =Rs.

331.

44 50 60

100% B80%

Pazsstudents 40 45 48
Required pass % = (40+ 45+ 48)/(40+ 50+ 60) = 100

=133/150= 100 =266/4% =
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(b) Letthe biggest numberis a and the smaller
numberis (520 - a)
a (100 - 4}/100 =(520 - a) = (100 +12)/100
= 96a/100 = {520 - a) x112/100
96a = (520 - a)112/100
13a = 3640
a =230
Hence, bigger number= 280
Smaller number={20 + 280) =240
Alternate:
Mote: Insuch type of questi
options to save yourvalua

satisfy the questionc

Option:

Smaller number

Hence, Bigger n@inberg 520 — 240 =280
According to the on,

280 =9, = 40 x 112/100

equal hence option [c} is correct.

1%, year 2", year
pearedstudents = 80 &0

l |

Passedstudents —» 48 48
Required % average rate

=(48 + 48)/(80 + 60) = 100

= 96/140 = 100 =960/14

= 480/7%

1%, Section 2", section Total
Mumberof student= 20 30 =¥

20% 60%
Passedstudents —= 16 18 -

Requirred % of passedstudents
= 34/50% 100 = 68%
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(d} The production of cycles rose to 48400 338.
from 40000 in 2 years
— Persentproduction =40000
—» Aftertwoyears= 48000
= Time = 2years
— Rate of increasement =7
According to the question,
Production after 2 years
= Present production {1+ R/100)*
- 48400 =40000 (1+ R/100)2
= 484/400 (1 + R/100)°
= 1+R/100 =22/20
= R/100 =1/10
-+ R=10%
— Rate of increasement=10%
(b} Lettotal staff= 100
(female) 4wn% (male)
40 60 339.

Unmarried aﬂ%i l 50% Unmarried

12 30

—= 42 is unmarried staff out of 100
Percentage =42/100 x 100 =42% Ans.

(b} Accordingto the question

1980 -1990 - 5

20 % Increase x
1990 — 2000 - 5
\‘m‘“‘--.‘,‘-"

20% increased by

2000 — 2010
\“\.,_____,...«"' 16

v

In 2010

20% incr

Pop increasein % = 91/125 =100
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(b) Letthe numberis =100
According to the question.

100
(15% (13.75%
Increase Decrease)
115 25

13.75 unit > 2

1unit —= 2

100 unj 22@3.?5 ¥ 100 =160

Thus, ndl number=160

( igeg to the question

100

emale) 40%/\6(]‘36 (male)
40 el

Onfood 40% l lzu% House Rent

12 30
Remaining =100 —40 —20 =40

70% children
Education 28
Thus, Left=40 -28 =12%

J-(:HQQI{ZE

www.jkchrome.com



"~ JKChrome

JK Chrome | Employment Portal

() Rated No.1 Job Application

of India &
Sarkari Naukri [
Private Jobs i ) [m—
Employment News Aboit Hilsapp
SAUE IS R oo e e
Notifications

News & Magazines

Rate this app
Tell ers what you t

ith hink

STUDY
MATERIAL

GET IT ON

» Google play

JK Chrome ) CIiCK here tO
Q 47/ DOWNLOAD

J

CHR jk chrome

www.jkchrome.com | Email : contact@jkchrome.com



https://play.google.com/store/apps/details?id=com.gbt.it.jobportal



